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Topic:- Grad_Nutrition and Health

1) Maternal practice that can be harmful to the foetus is:/ AIdl P 98 3iTed ot TRy ﬁl"{[ * ﬁl‘l'{
NP R® g 9Hdl 8:

1. Fasting/349dTd -1

2. Smoking/YHUT HAT

3. All of the above/ SURIGRT I+

4. Low carbohydrate/protein diet/®H W@f’s’ﬂ@? / I arer 3IBR

Correct Answer :-

« All of the above/ STRIGd Tt

2) Which one is the appetite stimulating hormone:/ 398 ¥ S M IE W HA
a1t grH 82

1. Heparin/ gulAa

2. Insulin / Eﬁﬁﬂ

3. GIucagon/WﬂTﬁ
4. Leptin/ A

Correct Answer :-

« Leptin/ ©fpA

3) The amount of heat required to raise the temperature of 1 kg of water through 1 degree

Celsius (centigrade) is defined as:/1 o @ & o ¥ 1 S A}y (@"cﬁ'ﬁ@') @t q@%g
TGRS S SAT BT UEAT B & wu ¥ uRurira far war 81
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1. Kilocalorieff%rﬁ‘ﬁw
2. Kilograms/ﬁv_c'ﬁw
3. Kilojoules/fdare[a

4. Joules/S[d

Correct Answer :-

« Kilocalorie/fFaipaRt

4) Anaemia can be prevented by incorporating diet with:/ 38R # TS HIP IFareddl
(ST Y AU B S bl gl

1. Iron and Vitamin C/3MRA T4 fdetfd= €

2. Calcium and Iron/$ iR Td 3R

3. Phosphorus and Fluoride/®RHRY T4 FARZS
4. Fluoride and Phosphorus/FaR3S Td B IRBGRY

Correct Answer :-

« Iron and Vitamin C/3RRA Td fde1®= C

5) Hearing loss, impaired vision and lack of coordination is commonly observed in:/ YAUTRTTRT BT

B9, T &fiurar ok TH=ag B HH AR W # ¢ &) forerdt @
1. Teenagers/ﬁﬂﬂﬁ
2. Pregnant women/Tach Afear

3. Elderly/old age/So[/gs 3Mg
4. None of these/3TH I PIg =gl

Correct Answer :-

« Elderly/old age/S[/q< 3

6) The amount of energy used for basal metabolism in a period of time is called the:/ T

TEITaty ¥ U} TaTIe & fIe ygad St @t A e ot PEd 8
1. Basal metabolic rate/3TUR} IOI< &R (§9 HeTalfcid )

2. Basal energy rate/3MTUR} SHuif &R (39 TSI 32)

3. Energy rate/3oll &R (TSI %€)

4. None of these/3TH ¥ P15 Toi

Correct Answer :-

« Basal metabolic rate/3{TUR} TG &R (49d HeTalid ¥T)
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7) Hypoalbumenia, hypokalemia and fatty liver are found mostly in following

deficiency: /gruITegHifaT, gravtdefiar ik %l foraw ef¥eiea: A9
qifsa aril & 3@ 31 fred g1

1. Kwashiokar/ ®TRRSR

2. Electrolyte imbalance/ Sdacidise 3RIeH

3. Viral hepatitis/ faNTI[eT IHa=NY (IRRA gUCRcd)

4. Marasmus / FRIEIH

Correct Answer :-

« Kwashiokar/ HIRRD R

8) Myopia is a defect of vision blurring:/ fi@eedar (wraifian) e =dEy & orH

1. Distant object/ 3 P I%¢ 3Ry fwdt §
2. Close object/ U @1 a¥xqy 3y fead §
3. Identification of object in dim light/ HH UHIRI H a¥g3fl &1 UgaH & Hie-Ts gl §

4. Color blindness/ UITIAT (PR AESY) IUT 8l Il §

Correct Answer :-

. Distant object/ R &1 aX¢ 3Ry ot §

9) As per ICMR 2010 what is the calorie requirement of a lactating mother of a 7-12 months old
infant?/ ICMR 2010 & 39 7-12 UT§ & A &1 WU 71 I8! Afgen &1 Fadt smazgwar wn
gl

1. +420 kilo calorie/day/+420 fra Hary/feT
2. +520 kilo calorie/day/+520 el e/
3. +620 kilo calorie/day/+620 el R/
4. +720 kilo calorie/day/+720 faall daRy/fas

Correct Answer :-

« +520 kilo calorie/day/+520 fba @R/

10) What is the additional caloric requirements of a pregnant lady as per ICMR 2010?/ ICMR
2010 ¥ IR Mifacth wft Ft sifafvad Fedt srazawar frat g 82

1. +350 keal/day/+350 fa Hary/fe
2. +450kcal/day/+450 fe FaRy/fea
3. +550kcal/day/+550 fel Hary/fea
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4. +650kcal/day/+650 foral Ry

Correct Answer :-

e +350 kcal/day/+350 fba AR/

11) Common symptoms of malaria are:/HdARAT & 3TH A&UT g
1. Shaking chills and high fever/ @ U U 3R IS ER
2. Profuse sweating and headache/ 3{&f¥& GIfiHT 3R fRRed

3. Nausea, vomiting and anaemia / ddcblir, Jafedl 3R IadTeddT

4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad

12) Which is the principal site of production for several hormones responsible for regulating

foetal growth?/ My RIg] Y 93 &1 Mt~ F3= a1d $ g1l & I &1 GBI WA S I9-47 82
1. Uterus/TTHRI

2. Breast/%H

3. Fallopian tube/Safaa Aferent

4. Placenta/THTe (wi¥ieT)

Correct Answer :-

« Placenta/TTHATE (wide)

13) In children, incorporation of Vitamin D, calcium and phosphorous prevents:/ =i &1 fderff=
S, FRUH 3R BRERT & A Bt AHYM gieit g

1. Osteomalacia/31RUTgdT (STReTHIRAT)
2. Rickets/Rarcd

3. PeIIagra/ﬁ?iTﬂT

4. Keratomalacia/dRIc QIR

Correct Answer :-

« Rickets/Rapcq

14) An energy source to avoid during pregnancy is:/ iR & EﬁTFI Sl & 5 Wd I I9-1
Gl

1. Protein/UieH
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2. Fat/adn

3. Carbohydrate/®EERISE
4. Alcohol/ Tebigd

Correct Answer :-

« Alcohol/ Tehigd

15) What is the goal of diet in treatment of pneumonia?/ gHI~[AT & ITER
TR PT AT AT 772

1. All of the above/ B'Cl'éaﬂ gt
2. Increase body's resistance/ R IR BT gfeRige Afad deldl
3. Maintain body weight/ YRR &1 YR ®HIH QT

4. Prevent dehydration/ fAsieiie?ur § ST

Correct Answer :-

« All of the above/ B“Cﬂifﬁ gt
16) Pregnancy induced hypertension is called:/ TYERIT AR I=RETT B Ped %

1. Anaemia/STeddT (THITHT)

2. Constipation/®es
3. Heart burn/?ﬂer H Sia

4. Eclampsia/Sacifega

Correct Answer :-

« Eclampsia/Taci fdm

17) Serum albumin level as an indicator to assess protein nutritional status
for pre-schoolers for assessment of:/ & 3fipad & e yd-faemadt s=i
3t WA vyl AT BT Siwad B gg IR THAA & WX DI Gbdd & U | TN
A %

1. PEM
2. DHA
3. ALA

4. DOTS

Correct Answer :-

« PEM
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18) All nutritional disorders are associated with over nutrition except:/3TH d

ot Brs®e s 9t dhyor W=l R =g ¥ ofe dwor @ gwflia 82
1. Flurosis/ G@m

2. Osteomalacia / 3R (3MReIHARMAN)

3. Obesity/ e

4. Hypewitaminosis/mﬁﬂﬁﬁﬁm

Correct Answer :-

. Osteomalacia / 3R (SHTRATRTAN)
19) Meat, fish and poultry are important sources of-/ A%, Toel 3N Toff ¥ Hgayul |id
gl

1. Carbohydratesﬁlﬁﬁ'elmg'd
2. Proteins/UicH

3. Calcium/&fRIaH
4. Vitamin C/fdet®d C

Correct Answer :-

« Proteins/dieH

20) As prevention is better than cure typhoid can be prevented

by: /<f% S99, SATS | dga% 8l ©, ¥ gRT CIUWIss A TaTd fHar o1 JHdT 8:
1. Avoid eating food handled by someone/ fdhit & gRT GU TT YIS ¥ T4

2. Avoid street foods and raw fruits and vegetables/ Teoh! | fadm- aral s gerdf SR
$d Bl 9 glewdl I s

3. Both of the above/ RUCESEAR]
4. None of the above /sﬂ'»ef q Eﬁ'sf:reﬁ

Correct Answer :-

. Both of the above/ IWRIad gl

21) One gram of protein yields: /T T WET A et €
1. 4 kilo calorie/4 el PaRy
2. 5 kilo calorie/5 e FaRy
3. 6 kilo calorie/6 faall ekt
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4. 9 kilo calorie/9 el part

Correct Answer :-

e 4 kilo calorie/4 e ot

22) Gestational Diabetes is observed in: /THaGRITETT Ay # 3@ P e &
1. Adult Men/dazxh ELFEﬁ

2. Pregnant women/‘T’l-TEI_cﬂ oy

3. Post-menopausal women/ISIAg< et

4. Adult women/au%® Xl

Correct Answer :-

« Pregnant women/T+ad feat

23) The lacteal secretion produced by women immediately after birth and intended for feeding
newborn is:/TRTd & R~ §1¢ ATAT §RT I GTIHH HTd S Aaoid Rig) &) fam & forg Ao g,
FHgarar gl

1. Colostrum/UTy (PIARCH)
2. Cholesterol/aﬂﬁ@ﬁﬁ

3. Lactose/aaaﬁf

4, Hemoglobin/ﬁ?ﬂ‘?ﬁﬁﬂ

Correct Answer :-

« Colostrum/Uiy (HIcIReH)

24) Kind of malnutrition PEM stands for? /$UIYUl & TP YHR PEM ST T
v /a1 82

1. Pepsin energy malnutrition/ U= GW:TTWN‘UT

2. Protein-excess malnutrition/ - 3nferey W
3. Protein-energy malnutrition/ W-W’f@tﬁw

4. Pepsin-enzyme malnutrition/ W-WW

Correct Answer :-

» Protein-energy malnutrition/ -G WN'UT

25) Chicken pox is caused by virus:/ 9@ (R uiew) Citrg

fauTop & graT @
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1. Varicose/ CIECAR]
2. Varicella zoster virus/ afT@m SiRex IRy
3. Virus Herpes/ E'Cfﬁsf CIREES

4. Lepra virus/ TUT aRRY

Correct Answer :-

« Varicella zoster virus/ afaen Gi, X ARy

26) HIB stands for:/Td3Msdl &1 QT 14 &:

1. Hemoptysis/ BHIPRARN (SaH H )

2. Heamodialysis / BHISAIRY

3. Hemoglobin influenza/gHRITS SIS

4. Haemophilus Influenzae Type YRLICIESR gﬂﬁQGﬂ cIgU b

Correct Answer :-

« Haemophilus Influenzae Type b/BHIBISTT EWQ\—rﬁ clkU b

27) Scheme for promotion of menstrual hygiene among adolescent girls in

rural India is focused from age group?/ o YR H fenfeal o arfye ot
TR T3 dl Bt 9erdl o1 Pt o1 fhd g T W Hfwd 82

1. 5-9 years/5-9 GL
2. None of the above/ wjaa e | ﬁ's: Teﬁ
3. 15-20 years /15-20 d¥

4. 10-19 years/10-19 Y

Correct Answer :-

. 10-19 years/10-19 ¥

28) Night blindness or nyctalopia is one of the first signs of which nutrient deficiency?/ Il ar
frg Nive 9 Ft 1 F IRMAIE Jhdl § A T 32

1. Protein/l;ﬁ'cﬁ:[

2. Vitamin A/fdeifiq A
3. Vitamin C/fde1ff= €
4. Folic acid/WIfdid 3t

Correct Answer :-
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e Vitamin A/fdeT®T A

29) Xerostomia (lack of salivation) affects more commonly among:/ R (IR Hﬁ'@F-F-lT)
79 A fora# 3 urar ST @:

1. Elderly / old age/ ST / 9 31
2. Adolescent/feraIR

3. Toddlers/ T SR & g Y

4. None of these/s:lﬁ I ﬁ"s: =r€T
Correct Answer :-

« Elderly / old age/ S5l / 9 31

30) Which foods need to be avoided during vomiting:/ Sdfedi 811 & gRTH g9
¥ B9 11 @re yerd gt A arfee?

1. Milk and milk products/ g¥ d §‘H$ 3dlg
2. Alcohol/ W@H

3. Carbonated drinks/ W‘é‘ﬁ% |

4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad Tt

31) Supplementary foods/weaning are to be incorporated from the age of:/ JQR® 3MBR/GY
GESH BIYREIAT___ DI AT A DI o1 gelt g1

1. 3 months/3 HIg
2. 6 months/6 HIg
3. 9 months/9 HIg

4. 12 months/12 HIg

Correct Answer :-

e 6 months/6 HIg

32) National program for control of blindness was launched in year

under 12th five year plan: /819 3r=aT fra=aur srdea 124 daadffa aern
& 3=ld ay # R forar T At

1.1976

2. 1982
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3. 1989
4. 1990

Correct Answer :-

« 1976

33) The Condition of inflammation and cracking on corners of mouth is

called:/TE@ F FH R MY IR RR/FBeaH fRARTH __ Fgd &
1. Pellagra/ UQRT

2. Scurvy/ T df

3. Cheilosis/ 3{TSfdaxdr (Iaf)

4. Rickets / R

Correct Answer :-

« Cheilosis/ 3Sfdezar (JaIR)

34) Prevention of tuberculosis can be done through:/ Wﬁm @ ABYUTH
& HILHH | BT o Hhdl 8:

1. BCG vaccine / BCG & &

2. Education and cough etiquette / & 3R @91 & RIPER
3. Both of the above/ IWRId Gl

4. None of the above/3TH ¥ ®Is g1

Correct Answer :-

« Both of the above/ RERCSRAR]]

35) Individuals consuming strictly vegetarian diets, particularly after 5 to 6 years, typically have

lower circulating levels of:/I[& ¥U I AMHTER! WU ard sAfaadl 8, ARy U 3 5 7 6 9¢ BT 3mg
¥ e, F IR TR AR W B4 8 8:

1. Vitamin D/fde1®= D

2. Vitamin B12/fdeI®H B12

3. Iron/3TORA
4. Vitamin K/fdeT®q K

Correct Answer :-

« Vitamin B12/fde1f&q B12
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36) National mental health program designed to address the mental health

issues of:/ T AHRTS WA HrAHH & HARTS W gt el ot
I $e & forg fEwms fovar man @:

1. Adolescent/ f&HRIRY

2. Infants/ aeira fRgaf

3. Pregnant mothers/ THad Araraf
4, Geriatric group/ Wﬁ

Correct Answer :-

. Adolescent/ fFaRI

37) Low birth weight is defined as weight less than how many pounds?/ S

& Y $H UR P! fHa dis ¥ o0 4R & w0 § auifia faar wan g2
1. 4.5 pounds/4.5 UI3S

2. 5 pounds/5 UT3S

3. 5.5 pounds/5.5 UI3S

4. 7 pounds/7 T3S

Correct Answer :-

« 5.5 pounds/5.5 UI3S

38) The iron and folic acid tablet for adolescence is coloured as:/ framRY a?ﬁﬂz
3TARA TG Wi Sia &Y egaie fohy 31 3t Bl §:

1. Iron ki lal goli - red/ 3R &1 A il - o

2. Iron ki safed goli- white/ 3R &1 g el - g
3. Iron ki nili goli- blue/ 3R &t el et - et

4. Iron ki pilli goli- yellow/ 38R ®1 gl Tmen - dielt

Correct Answer :-

« Iron ki nili goli- blue/ 3TARA &1 Tl el - el

39) DPT stands for which disease protection:/DPT A= fra M | & & fau
a STt %:

1. All of the above/ Iudad g+
2. Diabetes pellagra and pertussis/ SRS (AYHE), UaHN 3R Tegfag
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3. Diphtheria, Tetanus and Pertussis/fS®ifar, <ead G?ITUTEﬂ%H
4. Dysentry polio and tetanus/f&d<l (aferen), Mifemt 8k T

Correct Answer :-

- Diphtheria, Tetanus and Pertussis/fS®ifar, e9 iR gl

40) Rotavirus mostly affects children and it results in the following clinical
condition: / JACTATaRY ATUBIRG: T= B TUIIIT BT 31 FADT HHHUI 3946 & fhd
Aerf~e fRfa 1 SO 9741 2

1. Aneamia/ YadTeddl (Q:FF&NT)

2. Vomiting, diarrhea, abdominal pain/ Idfedi, g, IR TG

3. Pellagra/ BID)

4. Dementia / 1YY (FSHR™M

Correct Answer :-

« Vomiting, diarrhea, abdominal pain/ Idfedi, T, IR A LX)

41) Whooping cough is spread mainly by:/ ®Tct @it HQd: T Bad! 8
1. Droplet infection and direct contact/ fdg® ThHUr g Y T
2. By mosquito bite/ TR & Hled

3. By contaminated food/Igi¥d @< gt

4. None of the above /B’CR}IGH =i | aﬂg‘ =|%°[

Correct Answer :-

. Droplet infection and direct contact/ fdg® Twa0 Td WY Tiudh

42) RDA for Zinc according to ICMR (2010) for pregnant women is:/ ICMR (2010) & SR
miadt afgarsii & g e 3t RDA &:

1. 15 mg/day/15 fom/fea
2. 20 mg/day/20 /e
3. 10 mg/day/10 /e
4. 12 mg/day/12 fe/fe=

Correct Answer :-

« 12 mg/day/12 fomm/fea
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43) Which of the following statement is false regarding folate except?/ wide
& T | 30 9 {59 DISHY o HYF 3Ad 82

1. Folate is important for cell division/®Ide HIRBT fAUTSH & WW BT g

2. Folate deficiency may lead to gestional diabetes/ ide &t HH! ¥ THITRIGTAN AYHE
8 Tl §

3. Folate deficiency is associated with neural tube defects/ Bidic &1 HHI di~dd] ATd Gl
("R oya fethae) ¥ gafRid 3

4. Spinach, lentils, fortified grains are the rich sources of folate/Ulcid, HYI Gl ald,
BIFCHISS 3HS Bide & 4G Ad 5

Correct Answer :-

« Folate deficiency may lead to gestional diabetes/ Hide ®1 HH! J THIGRIBTA mﬁ‘s'
g g&dl §

44) The deficiency of zinc in pregnancy could result in: /THa®RIT § i & HH
PT HRUI 9 TPl &

1. Low birth weight/S/ & THT HH YR

2. Impaired DNA and RNA synthesis/ DNA Td RNA I=asor # effordr
3. Both of the above/ JWRIad !

4. None of the above/%‘—l'ﬁf I aﬁ‘a‘ T8l

Correct Answer :-

« Both of the above/ RERCSRAR]]

45) Which of the following group is more vulnerable to osteoporosis?/ ?Fl'efﬁ PI-T age

HTRGRRe (sifeaaRIR) ufa sifte rgRfara &2

1. Infants/=TasiTd fRrg]

2. Adolescents/f&gIR
3. Post-menopausal women/ISiIAg et

4. None of these/3T8 q P T8l

Correct Answer :-

+ Post-menopausal women/ISIHg< et

46) Endemic disease refers to problem in:/RIfA® (TSfi®) I &7 3rdf e
1. Related only to men group/ ad Jou! I H&fdd T

2. None of these/3TH T @Is a1
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3. Specific region problem/ﬁf?ﬂs_r & B JET
4. Related only to women group/ %ad el T Faiferd I

Correct Answer :-

« Specific region problem/fafTF &= &1 THwm

47) Immunization is one of the important _____:/ufRefierurus wgayuf __ @:
1. Public Health Intervention/S TRg gAY

2. Health investment/3dg fAaw

3. Prevents disability/3M=TerTdT AU

4. All of the above/STRlad Tuft

Correct Answer :-

« Al of the above/IURIeT Ht

48) What are the common causes of diarrhoea?/ ¢&l & 3MTH PRI T %'?
1. Bacterial, viral and parasite infection / STidaTU], faNT0] Td WReildt Hsha0T

2. Medications like antibiotics / Qﬂﬁ@% ot SN

3. Lactose intolerance / diaerel SRTIAT

4. All of the above / T:Ftl?j?ﬁ papti|

Correct Answer :-

« All of the above / 3udad I+

49) An eating disorder characterised by abnormally low body weight and fear of gaining weight

is:/ TP HivH T iR SRS Sificanr € IR 31 YR MM U I $H §IH1 U4 HR 91 BT Ha:
1. Anorexia nervosa/TTRIRTT Tafar
2. Hyperlipidemia/graaRfeiurs i

3. Acne/Hg™i
4. None of these/'s’:lff T ﬁ"sc :@'

Correct Answer :-

« Anorexia nervosa/TARIRTT AT

50) Which of the following is not a disaccharide?/ Eﬁﬁ P Udh mﬁm Hﬁ%’-’
1. Sucrose/IhIA
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2. Lactose/ﬁﬁ@?rf
3. Galactose/ﬁﬁaﬂ\_;r

4. None of these/378 q P gl

Correct Answer :-

« Galactose/Tdaeisl

51) Beri-beri is the deficiency disorder associated with which vitamin?/ 93-a3t f&g faerfiqm &
Trfd AT o1 PR 82

1. Thiamine/%rrqﬁ?

2. Riboﬂavin/?'l%ﬁﬁq—@ﬁ:l
3. Niacin/faR=

4. Pyridoxine/UrRIS -

Correct Answer :-

o Thiamine/Jaf=

52) National deworming day was launched by Ministry of health and family
welfare in year:/ WA Td IRAR ST F=ATed gIRT # TP piH-giad
oo sy fomam T or:

1. February 2013/ BRa<t 2013
2. February 2015/ IRl 2015
3. February 2010/ ®Rax! 2010

4. February 2017/ ®Raxi 2017

Correct Answer :-
« February 2015/ HRas! 2015

53) As per India’s Iodine deficiency control program micro grams of
iodine is essential for normal human growth and development:/ HRd &

TS LaT ol S1RiwH & AR, Ag® &t I g v fasra & fou
TSI AT &:

1. 200-250 micrograms/ 200-250 WTITH
2. 450-475 micrograms/ 450-475 HIZH U
3. 100-150 micrograms/ 100-150 HIZH UM

4. 75-95 micrograms,/75-95 HISHRTH

Correct Answer :-
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« 100-150 micrograms/ 100-150 AT IUTH

54) RDA of calories and proteins for an adult men sedentary worker according to ICMR 2010

is:/ICMR 2010 ¥ JOR gawh fAfery v oiif & g @it vd Wid @1 RDA 2:
1. 2000 kilo calorie/day; 50 gram/2000 faal HaRY/; 50 I

2. 2320 kilo calorie/day; 60 gram/2320 WW/@’J; 60 U™H

3. 2632 kilo calorie/day; 60 gram/2632 fa HaRy/fe; 60 IH

4. 2700 kilo calorie/day; 50 gram/2700 fae al/fe; 50 UM

Correct Answer :-

e 2320 kilo calorie/day; 60 gram/2320 e AR /l?:f; 60 U™H

55) on 25t February 2012, World Health Organization (WHO) removed India
from the global list of countries:/25 BIa3l, 2012 H fIy WA 64
(WHO) 3 YRd i T 3N 1 A = A AT fear

1. Polio endemic/ Tiferl AGTHRY
2. Diphtheria / fewiifiar

3. Pertusis/ TR
4. Chicken pox/ EEED (ﬁlﬁ HTTH)

Correct Answer :-

« Polio endemic/ Tiferal AGTHRY

Topic:- Grad_General Knowledge and Logical Ability

1) Which term describes the wave of muscular contraction that moves food material through the

GI tract towards the anus:/ aﬁq-mwwnﬁ%mmﬁaﬁwaﬁeﬁwﬁwﬂvﬂu
TP P aT BT U Bl 82

1. Peristalsis/spHTH T
2. Pendular motility/ @A =i

3. Segmentation/ TerHa"

4. Haustral churning/ RIGK| (Efma'q) HRYA

Correct Answer :-

« Peristalsis/spHIH T

2) DRDA was established in the year:/ DRDA &1 wrcﬁnmacfﬁgé Ao
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1.1979

2. 1980
3.1981
4, 1982

Correct Answer :-

« 1980

3) DIRECTIONS: Study the following pie chart carefully and answer the
question given below. /3% fAufefad urd @rd &1 sa= ¥ gy = 3 few me uy &1

I e |
The pie chart shows the profession of total population./ m% e P THAHSAT &
aYTd P! ST g
Population of city/ TR & S=EST = 7, 20,000.
Business,/SOrdr,
Transport/9fiag 240
Industry/ 3@“
Agriculture/&g, , 108°
120#

Service /=&,
q2e

How much percent population is in transport from the total population?/%d
RIS BT fopan ufa=ra @i ufvag o 82

1. 15%

2.32%

3.22%

4. 10%

Correct Answer :-
e 10%

4) ‘Ctrl +S’ depicts-/'Ctrl +S’ USRfd Hdr -
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1. Shift/fRie

2. Combine/ SaTgd
3. Undo/ 31g

4, Save/ g

Correct Answer :-

« Save/ 99

5) Nikhil travels 10 km north, turns left and travels 4 km and then again turns
right and covers another 5 km. He then turns right and travels another 4 km.
How far is he from starting point of his journey?/ fafae IR 9t 8k 10 fHet
a4 g,fhR 91T gear 4 fHHt aaar 8 9uT 98 e geax fpx 5 ot ik aear 31 a8 R
¥ g geav 4 fpHl ok gaar 3|98 oA WRMAE fag @ feas gt w82

1.5 km/ 5 ot
2. 4 km/ 4 foruit
3. 15 km/ 15 foedt
4. 10 km/ 10 oot

Correct Answer :-

e 15 km/ 15 T

6) Which among the following is the time when sexual maturity is reached: /?F-l'ef ¥ frg amg w
o ufuerdr ure gt et 82

1. Adulthood/ TIIRTIRIT

2. Puberty/ gy

3. Phallic stage/ R srgw=t

4. None of the above/ SWRIed 7 I ﬁé :13?

Correct Answer :-

e Puberty/ gy

7) Pradhan Mantri Kaushal Vikas Yojana develop skills in:/ YUTTHET SR
faeTa g 59 e s faera @ 991 @:

1. Youth/ gdi

2. Children/ &=

3. Infants/ ﬁﬁ{[@:ﬁ

4. Senior citizen/ ity ArTR®
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7

Correct Answer :-

« Youth/ gdl

GET IT ON
Google Play

8) Count the number of triangles in the following figure. / =% 3ngfa & Hrys &t

TSAT JTd B |

el

1.8
2.10

3.19

4. None of these@ﬁﬁaﬁéﬁ

Correct Answer :-

« None of these/3TH T &5 Tal

9) AIDS can spread from an infected person to another through:/ T&¥ U% Wi aafad I gaR

AR B ____ & Aregd | b g 2
1. Sharing food/ o HEITW

2. Blood transfusion/ &I (I TGH)
3. Sharing comby/ &8 T HA

4. A mosquito bite/ AESR & HIeA

Correct Answer :-

 Blood transfusion/ Y&l (g aaﬁr)

10) The Prohibition of Child Marriage Act, 2006 extends to the whole of India
except the state of: /3T faarg vy sifif~raw 2006 ,fFw 359 o B = Aw Igf HRd

o @y 32

1. Tamil Nadu/ﬂﬁl?Fﬂ’g’

2. Haryana/"&lﬁTrFUH

3. Jammu and Kashmir/ W@TW
4. Karnataka/ Flcdh

Correct Answer :-

. Jammu and Kashmir/ S 3R HIHR
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11) ‘Ctrl + C’ depicts:/ ‘Ctrl +C’ Weffq ®var &:
1. Cut/ ®e

2. Copy/ iUl

3. Clear/ fRmR

4. Save/ g

Correct Answer :-

« Copy/ ®1at

12) DIRECTIONS: Find the Mirror image of the given figure./ {32 & mf 3Tpfd

1 euur yfafar 31d &3

Question figure/ U¥H GﬂTﬁf
(A}

Answer figure/ 3dX Gﬂ?ﬁf
@ ® ©@ @

1.a

2.b

3.C

4. d

Correct Answer :-

13) Introducing a woman, a man said, “"Her mother’s husband’s sister is my
mother”. How is the man ['elated to that woman?/ Wﬂﬁmﬁwm@:{
TS G3U A $gl ‘I Afgen &1 07 & ufa &) 981 981 97 @71 39 U &1 39 Afgar § o1 99y
2

1. Cousin/THR-BHR HTS T84

2. Nephew-Aunt/'l-IT-ﬂGT-ﬁ&ﬂ

3. Father-daughter /ﬁ?ﬂ-ﬂ'aﬂ

4, None of these/STH ¥ @5 Tl
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Correct Answer :-

« Cousin/FHR-BHY YIS T84

14) Child Labour Prevention Act was amended by the government in:/ 9Td 4H

MRy efufFam & SR g axifya fosar mar an
1. September 2007/ RidsR 2007

2. October 2006/ 3{dgsR 2006

3. January 2002/ SHax! 2002

4. October 2005/ 3fagsiR 2005

Correct Answer :-
« October 2006/ 3{d¢aR 2006

15) The period of time encompass the changes which lead to puberty:/ TNTAR™ TP & &1 aA
Rad=t #1 3afd &t FEd o

1. Adulthood/ dGIHRTIRIT

2. Pubescence/ @3: TfY
3. Menarche/ oleRH
4, Spermarche/ JhaxH/dde=H

Correct Answer :-

« Pubescence/ 93 T

16) Rs.45,000 is to be distributed among A, B and C in the ratio of 3:2:5
respectively, then what will be the share of A?/ %. 45,000 &I A, B 4T C & dI9
PURN: 3:2:5 & IFJUTd | qiel T™T, af A &1 fg=ar fooa=n ghm?

1. Rs.13,500/%.13,500
2. Rs.14,500/%.14,500
3. Rs.18,500/%.18,500

4. Rs.16,000/%.16,000

Correct Answer :-

« Rs.13,500/%.13,500

17) The first national policy on education in free India was launched in the

year:/ Wd-d HIRd § yyH g g fifa af H R Pt Tt A
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1.1947
2. 1964
3. 1968
4. 1986

Correct Answer :-

- 1968

18) A and B can finish a work in 30 days, B and C in 40 days while C and A in
60 days. How long will they take to finish it while working all together?/ A

3R B fras fad &1w &t 30 faAl #f [T H? IFd &, B 3R ¢ fraswe 3t &0 31 40 feAt
H B gba & dUT € 3R A freres St &0 Y 60 A # W1 H2 Toa B] afe i) freree
P B, a1 fopaq fet o &1d 1 5% 9Fd 82

202 202
1.  2days/ 3feq

2672 2672
2.  3days/  3f¢H

1

1
22- 22-
3. “3days/  =fad

252 252
4. " 3days/ 3fad

Correct Answer :-

2672 2672
. 3days/  2f¢q

19) Digital computers work on:/ f3fSed FER 397 W &0 Hd &
1. Centenary numbers/ RIAHIT TBITL

2. Binary Numbers/ STg-R} TaATd

3. Tertiary numbers/ faTt Tmd

4. None of the above/ STRI&d & ¥ I g

Correct Answer :-

« Binary Numbers/ S8R} T=ITQ

20) Indira Awas Yojana (IAY) provides:/ 3T TarT TISHT (IAY) TIT SUSSY BRI

82
1. Health for the rural poor/ ATHIUI TRIdl & fofg W@arey
2. Education for the rural poor/ JTHIU TRYel & forQ fRrem
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3. Housing for the rural poor/ ITHU1 TRIST & forg Smam g
4. Nutrition for the rural poor/ JTHIU TRIal & forg giwT

Correct Answer :-
« Housing for the rural poor/ JTHIU TRiel & foIQ 3ar

21) Pituitary gland known as the master endocrine gland is under the control of:/ Wy 3 &t
AR Sia:Ardt ufy ot we1 5irar @ iR 98 F o= g 31

1. Pineal gland/fafaa g

2. Adrenal gland/ 3ifeigads 3y
3. Hypothalamus/ BRITRIGHY

4. Thyroid gland/ 3{dg (YrRIgS) UfY

Correct Answer :-

« Hypothalamus/ BRURITHY

22) What does SEN stands for:/ SEN ETEBT:ITHW%?

1. Social Education Needs/ HI=Id TH =M AISH (HTHINS & I any)
2. Special and Exceptional Needs/ TR U8 TRIRHT ey (A=Y Td SR SHTaRIHdTy)

3. Spatial Emotional Negotiation/ @W(Spatial) IR ARG @Tﬁﬁ YTTATHD
HIHT)

4. Special Educational Needs/ @WW#’I@H (ﬁ@fﬁf Qfers ARG H )

Correct Answer :-

« Special Educational Needs/ Wﬁﬁﬁﬂ:ﬂ@m(mﬁ ﬁf\wex{m

23) Swachh Bharat Mission started in the year:/ TG HRA MTHAT BT 3T
fraad d g

1. 2013
2.2014
3. 2015

4. 2016

Correct Answer :-

« 2014
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24) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements. /7 3=n: R U 7T =4 § 58 YA 3R 3TF 91 7o Frepd faw e 71 smus
o Ty &t T U ], YA g 3 gdga aa | U= welta g 8 | 3t sl + ufew
mxﬁm%mwﬁwﬁﬁﬁﬁﬂmaﬁmwﬁmmaﬂmaw
O |

Statements: /PY:

All flowers are trees./ 9} 7@ Us &

All trees are jungles. / W 08 STat @

No jungle is hill./ ®g ST UgTS! 781 8

Conclusions:/ fpd:

I. No flower is hill./ @S Bd Ugrs! &l 8

II. No tree is hill./ @IS S UgIS! 181 &

III. Some jungles are flowers./ $© Sd Td §

1. If only conclusions I and II follow / gfe Haa F5HY 1 3R 11 &WW%

2. If only conclusions I and III follow /qﬁaﬁﬁﬁwﬁf I 3R III &WW%
3. If only conclusions II and III follow /afe %ad fAsHY I 3R 111 &FETUTW%
4. All follows/ T} 3FTERUI T §

Correct Answer :-

« All follows/ T} 3IERUI &xdl &

25) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ = Frafafed vy o vyares e ) & =
TR AT B AT /I T2

15
6399 x ° + 353 +? = 12025

1.13
2.25
3.28

4. 21

Correct Answer :-
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26) 10% more is gained by selling a cow for Rs.6500 than by selling it for
Rs.6000. Find the cost price of the cow./T® T4 &I $.6000 § 99+ & ga-T A
¥.6500 ¥ 91 W 10% it ATH ST 8| T BT Y Y FTd B

1. Rs./3.5000
2. Rs./?. 6000
3. Rs./?.5500

4. None of these/%ﬂﬁ?rﬁ'scﬁ

Correct Answer :-

e Rs./3.5000

27) The District Collector is the Chairman of:/ @ IfPRY SH®ST 3rwgel gidr g:
1. Gram Panchayat/ 99 U=mdd

2. Panchayat Samiti/ darad Ifafd

3. Zilla Parishad/ fSrel aRug a8 T

4. Gram Sabha/ 91H 4T

Correct Answer :-
« Zilla Parishad/ forar uRwe am g1

28) Which among the following was set up under National Commission for

Women Act, 19902/ 37 ¥ fordt I191a Afgar SmanT srfferas 1990 ,% srfa wurfia
fopa ram e

1. NHRC
2. NCSC
3. NCST
4. NCW
Correct Answer :-
« NCW

29) Micro-Units Development and Refinance Agency Ltd. (MUDRA) is a:/ J&H-
TS ReTe vd =Ry ol 1. (qam) & ve:

1. Entrepreneurship scheme/ SR JrorT

2. Educational scheme/ TR1&fm gieHr
3. Social Scheme/ gTHTEG I
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4. Construction scheme/ EEIEISE

Correct Answer :-

« Entrepreneurship scheme/ SR JrorT

30) If Amit’'s salary is 25% more than Sumit’s salary, then the percentage by
which Sumit’s salary is less than Amit’s salary is:/ af¢ 3ifid &1 3= gira & aa=
" 25% 3 g1, af JiAd &1 ad-1 ST & a9 I fpa- ufa=a w9 grm?

1. 15
2.20
3.25

4. 32

Correct Answer :-

31) Mean of 20 observations is 18. If two observations 7 and 15 are replaced
by 14 and 8 respectively, then the nhew mean will be:/ 20 U&IUN T AT 18 %|
Tfe &t W&rvT 7 3R 15 BI HHRE: 14 3R 8 | IR 54T SATAT 3,d1 74T ATeA TN

1. 14
2.18
3.16

4. 20

Correct Answer :-

32) ‘Ctrl +P’ depicts:/ ‘Ctrl +P’ WafRfd &var &:
1. Cut/ &c

2. Bold/ dics

3. Paste/ U

4. Print/ fiie

Correct Answer :-

. Print/ flie

33) TRYSEM was implemented in the year:/ TRYSEM &1 I&3(Td fora 9d & §3:
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1.1978
2.1979
3. 2000
4. 2001

Correct Answer :-

« 1979

34) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/fAcxrn: fFafufad uy & usars e ?) ¥ wA
YR THI B IT AT ATTIT?

49 % of 749 + 55% of 820 - ? = 242 / 749 BT 49% + 820 HT55% - ? = 242
1. 242
2.272
3.390
4,212

Correct Answer :-

. 242

35) What will be the compound interest earned on an amount of Rs.15000 at
10 % per annum in two years?/ 15000 3. P AR 10% ufcrad 1o B T A 2

Ul | Tshgfex SaTel T BT 2
1. Rs.3,150/ %.3,150
2. Rs.2,850/ %.2,850

3. Rs.2,600/ %.2,600
4. None of these/éﬁﬁ@[ﬂﬁéﬁ

Correct Answer :-

« Rs.3,150/%.3,150

36) PDA protects the rights of:/ PDA F IfYPRY P & a1 8l

1. Elderly/ i

2. Children/ =
3. Women/ Afgamd
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4. People with disabilities/ fgaaiT o

Correct Answer :-

« People with disabilities/ fdaaiT o=

37) When was the Antyodaya Anna Yojana scheme launched?/ 3=aiey 3
I &9 R g3 A2

1. In January 1999/ SHaxl 1999 #

2. In May 2000/ Hs 2000 &

3. In December 2000/ f&&dsR 2000 &
4. In October 2005/ 3fagsR 2005 &

Correct Answer :-

« In December 2000/ fa¥sR 2000 H

38) Sharda Act deals with:/ Rer sififaaw T g R &
1. Widow remarriage/ fasar gfdarg

2. Child marriage/ CIGACEIR

3. Inter-caste marriage/ 3idwiidig faarg

4. Polygamy/ Sgfadrg

Correct Answer :-
« Child marriage/ dTd fadrg

39) If ‘orange’ is called ‘butter’, ‘butter’ is called ‘soap’, ‘soap’ is called ‘ink’,
‘ink’ is called ‘honey’ and ‘honey’ is called ‘orange’, then which of the
following will be used for washing clothes?/ g o= &1 HFE’ FHel Srdl %,

3R 'WEE’ DI HART' BT ATAT ¢ df (19 T A DI 1 s U1 & fig sxdarar fpar §man g2
1. Honey / X[ga

2. Butter / Hag+

3. Orange/ X1

4. Ink/ T8t

Correct Answer :-

. Ink/ T8l
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40) Those values that cannot be discrete can be referred as:/ 38 HIH St 3fAR 81 §, P Fal
ST B:

1. Continuous data/ fARaR Gﬂﬁ

2. Non-continuous data/ I-FRER W
3. Open data/ ﬁﬁ W

4. Close data/ §¢ 3fidg

Correct Answer :-

« Continuous data/ FRTR 3 s

41) Which stage among the following is characterized by an ability to use abstract concepts:/

0 A f5a et BT FUTE0T Sge STURUMSH HT STTRT HIA BT AT 32
1. Concrete operational stage/ aﬂ/t[rf Tfgar ra=an

2. Formal operational stage/ Sies fehar sraw

3. Pre operational stage/ Hﬁﬂ?ﬂqﬁ AR

4. Operational stage/ TfhaT AT

Correct Answer :-

« Formal operational stage/ 3NU=Re Tfghar siaedr

42) The computers which are used in networked environment and mainly as network servers:/

T $X St Aead araraRul § 3R J&Ia: Acad Jav & FU | TR {5 o &
1. Mainframe computers/ 89 ThH $HTEx

2. Mini computers/ T hgex

3. Micro-computers/ ATSeh! HCR

4. Super computers/ JuR HHCR

Correct Answer :-

« Mainframe computers/ B Th PR

43) In MS Office, database management is done in:/ THTY ATTHA H, ST AdvHe 394 fHar
ST 3:

1. MS-Word/ THTT-aS
2. MS-Excel/ THUY-Tad

3. MS-Access/ THUY-TaRg
4, MS-PowerPoint/ THTI-UTR WEc
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Correct Answer :-

o« MS-Access/ THUI-UGY

44) Which answer figure will complete the pattern of the question figure? /

e o d o9t SR npfa wy i &1 gl swi?
Question figure/mr&rrq?ﬁf

£

]
QK
Answer figure/ 3R Gﬂﬁ

AR

{a) (b} ) {d)

1.a
2.b
3.C

4. d

Correct Answer :-

45) The permissible use of the technique “amniocentesis” is for:/ "I " (Eﬁﬂﬁﬁéﬁlﬂ) HD
TP BT AT ST ___ P e giar gl

1. Detecting any genetic abnormality/ 3TdfRid SREERIAT BT Ul T
2. Detecting sex of the unborn foetus/ TR QF-ZI &1 o1 10 B
3. Artificial insemination/ Tfﬁﬂ CRRCE

4. Transfer of embryo into the uterus of a surrogate mother/ faait HIEer A & Ty 7 YUT T BYTT-IRUT
B

Correct Answer :-

« Detecting any genetic abnormality/ 3afRI% SR &1 Udl AT

46) The objective of Inclusive Education is:/ JHTAN fRr&m &1 3= &-

1. To uncover and minimize barriers to learning/ SfRTH Bt FTUT3M Bl Uhe HAT @TE’%
GATH DR
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2. To change attitudes, behaviors, teaching methods, curricular and environments to

meet the needs of all children/ ¥t =i &1 sTaadmarsii ®1 gfd & forw W93, =gagR],
3o fafiray, ureaeraf ok ufeawr & ufvad= o

3. To promote constantly the local cultures and contents of various communities of

the society/ RIHIT TIHTaal 3R TS & fafirs el 1 fawg.avq &) TIaR serar &A1
4. All of the above/3dad Tt

Correct Answer :-

« All of the above/3uad Wt

47) Applied Behavioral Analysis (ABA) is often used to help children with

which of the following conditions?/ U SATIEIN® fIxeIUI (TwETsS fagard
%ﬂﬂ%fﬁm, (ABA)) &1 IUdRT UT9: 390 & fpyg fRufa A Gifsa s=ii &t aee & fore fomar wiran
?

1. Autism/ ST (3fifesH)

2. Attention Deficit disorder/ T =T [ABR (3fc=RH SfthiRre f&ures)
3. Dyslexia/ U3 db e (%Hﬁﬁ?ﬂﬂ)

4, Dyspraxia/ TfagHg A e (%ﬂ'ﬂ'@:ﬁﬂ)

Correct Answer :-

« Autism/ IGcidT (3HTfesH)

48) Lab to land programme was started in the year:/ YIRRTAT § 99 0% (@9 ¢
ds) PRI Fi AT 3 9T A §5:

1.1977
2. 1978
3.1979

4. 1980

Correct Answer :-

49) The term extension education was first coined in the year:/ ¥ f[d&R

18T (THeTE TP RH) U R el T

1. 1871 in Arizona University/ 1871 ﬁm?}ﬁaﬁ?ﬁ
2. 1872 in Cambridge University/1872 # drfaret gfaffed
3. 1873 in Baroda University / 187313['6@3[?1[%16%
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4. 1874 in Canada University/1874 T &-Tal gfHaRict

Correct Answer :-

. 1872 in Cambridge University/1872 H &fse gfAafict

50) Democracy is derived from a:/ SHI$HI! (USTdH) U 8:
1. Latin word/ @it Teg

2. Greek word/ W& Tsg

3. Indian word/ YRdY e

4. Japanese word/ ST Xeq

Correct Answer :-

. Greek word/ & sg

51) Islets of Langerhans are found in:/@TReg S flugg A f@d 81
1. Anterior pituitary/ 3% Urgy

2. Kidney cortex/ 9d depc (ﬁv_s:ﬁ ﬁ'cﬁ{)

3. Spleen/ GﬂET

4. Endocrine pancreas/ 3fdq:ET SR

Correct Answer :-

« Endocrine pancreas/ 3id:d1dl 3FARE

52) DIRECTIONS: Find the missing number./fc=I: @ = 10 H: |

24 | 576
28 |?

1. 121

2.324

3. 484

4. 784

Correct Answer :-

o 784
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Abhimanyu has to reach a certain place from his house at a certain time and
he finds that he will be 5 minutes late if he walks at 6 km/hr and 5 minutes
earlier, if he walks at 8 km/hr.Find the distance of that place from his
house./ 3fHH=g ¢ fHl/eer & wfa & Terar @ @ Tida 9@ 5 frde T | ugaar 81 =g w9
9% 8 fHi/eer 3t nifar & =erar 8 9t 5 frFe usd uga 9maT 31 S9F W A Tidd 3 gt I B

1. 3 km/3 ot
2. 4 km/4 Tt
3.5 km/5 foel
4. 6 km/6 fobt

Correct Answer :-

. 4 km/4 fHHt

54) The given diagram represents children, artists and singers. Study the
diagram and identify the region which represents those children who are

artists but not singers./ & T Gﬂq?ﬁlaﬁ, Wéﬁ?mﬁmﬁﬁ%lmﬁ
O X TYT I8 &F JTd B ol 9 T P GTAT 8 o) FATPR § AT TP T8 82

Children / 451 <

d | e —1» Artists / HAHIT

Singers / W+ <1

1l.a
2.b
3. f

4. e

Correct Answer :-
e b

55) DIRECTIONS: Choose the missing terms out of the given alternatives./

frdm: fou e fasetl # @ gu e 3T &Y |
--aba--ba-ab

1. bbaba

2. baabb

3. abbba

4. abbab

Correct Answer :-
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« abbab

Topic:- Grad_Managerial Skill

1) Youth club president is the examples of:/ g4 &Id GIW&IW'UT%:
1. Professional leader/ ORIaR =dl

2. Lay leader/ Smfferd =

3. Top Leader/ <is Adr

4. None of the above/ SWRIdd H I HIg ol

Correct Answer :-

« Lay leader/ SfRIET =

2) The communication method under which result demonstration comes is:/

g gaIvYr faf¥ foras efavfa srRaT= 3T 8:
1. Individual/ AfaaTd

2. Group/ 9Hg
3. Organizational/IT3ATdH®

4. Mass/ S (JTdol-e)
Correct Answer :-

« Group/ 9fg

3) The gap from where we are to where we want to go:/ aﬁﬁaw%aﬁsnﬁrm
ITEd & & " BT 3R &

1. Planning bridges/ @IGHT@@
2. Functional bridges/mﬁﬁ
3. Outline/ FUXET

4. Rotating bridges/ ﬂﬂﬁ@ﬁ

Correct Answer :-

« Planning bridges/EﬁTrFlT@ﬁ

4) The philosophy of Community Development Programme/ Frﬁi'lﬁa?ﬁiﬂﬁ
m .
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1. Only democratic growth/ %dd USITdT~ae [dHT

2. Development through people’s participation/ @M &1 UfdHTRIAT & A1eH ¥ f[dbT
3. Educational development/ Qe e
4. Nutritional development/ TS fahTg

Correct Answer :-

« Development through people’s participation/ AT BT UfTHIRIT & J1eH ¥ faer™

5) Planning in India as it is at present can be termed as:/ URd § gaH A 81 @
frater &) g1 oTaT 8:

1. State planning/ I AT
2. Centralized planning/&gigd AreHT

O\

3. Decentralized planning/ di® “Icpd T

4, Indicative planning/ T dldD o1

Correct Answer :-

« Indicative planning/ T dldD o1

6) The degree to which the results of an innovation can be tried:/ fodt AR
& gfvony fears & & TR &I HgT 91T 8:

1. Observability/ qderd
2. Complexity/ TiRerd

3. Compatibility/ 3JH ddl
4. Triability/ TRTHdT

Correct Answer :-

« Triability/ TaRTfHdT

7) The basic unit of development under IRDP is:/ IRDP & 3idiid fd®a & qa

39S ¢

1. District/ foram

2. Village/ Tid

3. CD block/ HIS! sl
4. Family/ TRaR
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Correct Answer :-

. CD block/ HISt sl

8) The full form of IRDP is:/ IRDP &I JRT ATH:

1. Integrated Rural Draught Program/ WWWW

2. International Rural Development Program/ &W@HWWW
3. Initiation of Rural Development Program/WﬁWWﬁW

4. Integrated Rural Development Program/ WWWW

Correct Answer :-

. Integrated Rural Development Program/ T&Igd AU AT HRIGH

9) The perceived trustworthiness and competence by the receiver at any

given time:/ fod Wt 999 e df gRT gzt AT YT iR Tvyar:
1. Publicity/ YR

2. Empathy/ S8Tgyfd

3. Perception/ HIRU

4. Credibility/ fayg-itar

Correct Answer :-

« Credibility/ fayg-aa

10) It implies gradual and sequential phases of change:/ g Uf¥ad- & HfH®

IepTe TRON 1 Yid HaT &:

1. Community/ 9Had

2. Society/ qd

3. Development/ fomra

4. None of the above/ SIRId H ¥ HIs gl

Correct Answer :-

« Development/ [d&™

11) S-M-C-R model of communication is given by:/ T8IYU S-M-C-R ATsd fHa+

fea:
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1. Leagans/ @G

2. Berlo/ gat
3. McClean/ A el (McClean)
4. Westley/ I

Correct Answer :-

« Berlo/ gat

12) One who is not paid for his work and generally work part time with local

group organization:/ Wﬁﬁlﬁm?ﬁm %WWH@TMW MR
T R TG W16 & ATY SHRPTAD &4 | 1 HdT 8, P! Hal ordl 8:

1. Professional Ieader/fllﬁfﬂﬁﬂT
2. Lay leader/ 3fgfRiférd dn
3. Top Leader/ RN

4. None of the above/ SRad § 9 d?lirTeﬁ'

Correct Answer :-

« Lay leader/ 3WfRferd a

13) Involvement of people in shaping, implementing and evaluating

programmes is termed as:/ mﬁﬂﬁ,mmﬁﬂmmﬁﬁ?ﬁﬁﬁ
YT &) g1 ST 8:

1. Community/ 9Ycld

2. Society Participation/ TS HTTGRY

3. Co-operative society/ Jg®R! TfHfd

4, Community Participation/ HIH&T% UTteR!

Correct Answer :-

« Community Participation/ JTHaI% YRIGRY

14) Minimum Needs Programme was launched during:/ S1dH TGPl HTAHH
B! BT fPad SR & 718:

1. 3rd five year plan/ A} daaufa greT
2. 4th five year plan/ 31t taadfg g
3. 5th five year plan/ Urad! Gerayfa gy
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4. 7th five year plan / 9rddl taasig T

Correct Answer :-

« 5th five year plan/ Uied! taayfa g
15) Folklore is an:/ @IP®HYUT §:

1. Print media/ flic ATeaH

2. Modern media/ 3Ty ATEH

3. Traditional media/ URAR® ATHH

4. Electronic media/ aadgTﬁdv HIEH

Correct Answer :-

. Traditional media/ UR™® AT

16) The model sought to identify personal characteristics responsible for

effective leadership:/ WHTA! g & foQ SeRerdt safdmr famyanaif T vgar =4 &1
HISd:

1. Trait Model/ @fddd Al

2. Behavioral Model/ TGRS HISd
3. Fiedler’s Model/ ®Igad Alsd

4. Path-Goal Model/ TTY-TIid (GY-316) HISd

Correct Answer :-

« Trait Model/ Afdda ATgd

17) The Community Development Programme was started on:/ HTEI,ETEH?

faera srdww ) P IE &8

1. Oct. 2nd 1950/2 3SR 1950
2. Oct. 2nd 1951/2 3dgaR 1951
3. Oct. 2nd 1952/2 3R 1952

4, Oct. 2nd 1953/2 3{d¢aR 1953

Correct Answer :-

e Oct. 2nd 1952/2 3fag¢sR 1952
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Collection of facts is a step of:/ auﬁma‘mmww%:
1. Programme planning/ HRIHH T
2. Co-ordination/ ¥HdY

3. Controlling/ fAg=m
4. Evaluating/ i+

Correct Answer :-

« Programme pIanning/WZﬁ\_ﬁT

19) Micro Level Planning is an example for:/ q&wwﬁiﬁmmwéz
1. Imperative planning/ Sifard g

2. Five year planning/ Uaa¥fd aieiT

3. Regional Planning/ REINRIEE

4. Target group planning/ fedd THg eI

Correct Answer :-

« Target group planning/ a@awaﬁw

20) A leadership style that is participatory and the most effective form of

leadership:/ Tt Aqca Aeht st ufaurRrargef 2 ik Aga &1 Tatfe gurd w=u 2:
1. Autocratic/ FRe

2. Democratic/ USiTdli~dch

3. Laissez Faire/ B&I&Y - S aTall

4. None of the above/ IWIad & ¥ I3 g1

Correct Answer :-

« Democratic/ USTdI~ad

21) One who had received specific specialized training and paid for his

work:/QﬂTﬁmmﬁﬁWﬁ&mmaaﬁTmW%mW
fopar wiTan 8:

1. Professional leader/ ORIaR =l

2. Lay leader/ SfRIad =

3. Top Leader/ o e

4. None of the above/ SIRIad # ¥ ®Ig g
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Correct Answer :-

o Professional leader/ URIGR =dT

22) Mahatma Gandhi National Rural Employment Guarantee Act (MNREGA) is
an Indian job guarantee scheme, enacted by legislation in the year:/ HgldHTl

i gt It AR TRE siffraE @A) U HIRA R SR TRE I 8, 39S
w9 @ adf & S aran T

1. 2003
2. 2004
3. 2005
4. 2006

Correct Answer :-

« 2005

23) Lay leader is also called as:/ 3ufiférd Ada1 & ag Y $g1 w1« @
1. Top Leader/ RILERI|

2. Professional Ieader/elﬁ?ﬂﬁ?ﬂ

3. Voluntary leader/ W& a1

4. None of the above/ SWRIdd H I ®Ig Tal

Correct Answer :-

. Voluntary leader/ Wfwse A

24) Planning commission has been renamed as:/ ST START &I fe&aT 14T 741 919

1. Neeti Commission/ e manT
2. Neeti Mission/ ifd for=m

3. Neeti Aayog/ e M

4. Neeti Yojna/ Hfa areT

Correct Answer :-

. Neeti Aayog/ T 3maRT
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The leader allows the employees to make the decisions in:/ S a1 UGl

1. Autocratic leadership/ PRS2 Add

2. Democratic leadership/ USTdiA® Aq@

3. Laissez Faire leadership/ 3g®@Ud Add
4. None of the above/ maaﬁﬁﬁéﬁ

Correct Answer :-

. Laissez Faire leadership/ R4 Aqa

26) An image of a document that was scanned and sent electronically by a

telephone:/ Waﬁﬁaaﬂﬁﬂa&nﬁaﬁ?%ﬁuﬁqm '&"aﬂﬁmﬂﬁ WSl 75 TER:
1. Modem/ HISH

2. Fax/ Bad

3. Message/ A

4. E-mail/ 3-89

Correct Answer :-

. Fax/ g

27) Group mobilisation needs identification of:/ WW%WWW
P ATIHAT gl &

1. Leadership pattern/ ﬁ‘q’aw

2. Disbursement/ faaRor

3. Organizational pattern/ T&Td® WY
4. Satisfaction/ Iq®

Correct Answer :-

» Leadership pattern/ ﬁﬂaw

28) Communication between human beings and non-human entities is

called:/ AT=d WSITfordl d TR-AT-4 YSATiardl & 9 & TR0 S HgT AT 6:
1. Extra personal communication/ ffafvad afaaia gwiyo

2. Intrapersonal communication/ SdRke RN

3. Interpersonal communication/ v fade gRIvoT
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4. Organizational communication/ TG-S JEIN0T

Correct Answer :-

« Extra personal communication/ ffafvad safaaa gwiyo

29) DRDA stands for:/ DRDA &T 3 e

1. District Rural Development Authority/ forer ameior fasra wnferes=r

2. District Rural Development Agency/ forem aretor fasmry Toidt

3. District Rural Development Act/ fSrer ameior famr sifefAaw

4. District Rural Development Association/mﬂﬁwﬁm@ﬁw

Correct Answer :-

« District Rural Development Agency/ TS oretor fasrg Toid]

30) Transmission of a message from a sender to a receiver in an

él%:%rstandable manner:/ Wmmﬁw%mww&mwﬁw

1. Feedback/ WI8d® (AHARM)
2. Empathy/ JgTIHfd
3. Communication/ TR0l

4. Perception/ YRUI

Correct Answer :-

« Communication/ JHY0T

31) The duration of 12th Five Year Plan was from:/ 123 e greEr &t srafy
A

1.1997-2002
2. 2002-2007
3.2007-2012
4, 2012-2017

Correct Answer :-

« 2012-2017
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Nature of the programme planning process is:/ Wzﬂwmaﬁwﬁr%
1. Helping/ Fg1Adl ®RAT
2. Supporting/ THIT HAT

3. Unifying and integrating/ \:1\|<_5-1| q THIHIU]
4. Sympathetic/ IgYfd

Correct Answer :-

« Unifying and integrating/ \ﬂ\lsdl CRCHERY

33) The second step of community development process was:/ '\‘ITEE'W
T uforar o7 gaRT TRT T:

1. Setting objective/ d&d e

2. Identification of the need/ TR dI CAREEIS!
3. Assessing resources/ ITTYA] BT e

4. Considering alternatives/ IEETIRRACEIR

Correct Answer :-

» Setting objective/ d&d IBERYI

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzT: FafefEd e & eaFyd® UeH: 39 4 33 T sgfawed! u==i & 98t
fawea &1 a7 B

A radio is first information and communication technology use in agricultural
development It was used as communication tool to spread the message of
development. A radio communication system sends signals by radio. The
radio equipment involved in the communication systems includes
transmitter and a receiver, each having an antenna and appropriate terminal
equipment such as a microphone at the transmitter and a loudspeaker at the
receiver in the case of a voice-communication system. Radio is being used
as a low cost medium to information about communicate govt. programmes,
agricultural services, health care, family planning, other welfare schemes.
Today, radio takes many forms, including wireless networks and mobile
communications of all types, as well as radio broadcasting. The era from the
late 1920s to the mid-1950s is commonly called radio's "Golden Age". Radio
was unique among methods of dramatic presentation in that it used only
sound. A radio communication system may send information only one way.
For example, in broadcasting a single transmitter sends signals to many
receivers. Two stations may take turns sending and receiving, using a single
radio frequency; this is called "simplex" By using two radio frequencies, two
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stations may continuously and concurrently send and receive signals - this is
called "duplex" operation./

Py faera ¥ At ugar G- vd Twiyur gt Sua 31 59 fera & 9= &) yarid
P & RV RITYT & =9 H T forar ar | Isa guivor yomedt Ifsay gRT God Aerd! g1
39 fAPTH & G &I TTd F1 & g § eiHiex g e &1 wat fear srar g
Ry A & 914 TP TEHT 9 Sugad fia USRI eigHier W AISHIwI 9 @y
YT gomrelt & ArHd # iy w arssafie: wfira giar 81 ¥fsat &1 v o0 @ ara
HTAY & U T IXPRI SRIHH, HIY Aa1sfl, WA T@HTd, uRar e , =g semr
qrerT3 B TSR 81 & e feaT sirar 81 8w, A & 8@ wu €, e arara Aead
T IW yPR & AaTsd FRIYT 94T ST TR A &1 1920 F P | 1950 & P
U dF & I DI (STl BT ' G890 "' BT ATal 81 IS ATedta uwgfaal & adtdl o
SIST AT RANfH 5T Fad taf+ &1 waT fpar Srar 81 A IHivor yuirelt Fad T e 3
WTFBRT Ut Tawdt 81 3Vl & fe, TR § te giaHier sMw ffiawt & G&a dwar g1
3 WA TP Tohel SN ATGF BT UGN $IP Hbd el 9 UTed B 9Phd 8; 39 "Rrruaaqn
Fel oTdT 31 &t ISW gl &1 T FRF, & R TR Abd Ul I U HR 9P &-
T "W URETe a1 oIraT 3|

The first information and communication technology used in agricultural

development is:/ $fY faewry & v & 715 el GEAT 9 TWvor MRt @
1. Motion pictures/ I fthed

2. Television/ CWlfawH

3. Radio /i‘%@[

4. None of these/ Sudad H ¥ His o 78T

Correct Answer :-

. Radio /ST

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s & aFyd® TeH: 39 4 83 T sgfawed! u=ei & 98t
fawey &1 99 B

A radio is first information and communication technology use in agricultural
development It was used as communication tool to spread the message of
development. A radio communication system sends signals by radio. The
radio equipment involved in the communication systems includes
transmitter and a receiver, each having an antenna and appropriate terminal
equipment such as a microphone at the transmitter and a loudspeaker at the
receiver in the case of a voice-communication system. Radio is being used
as a low cost medium to information about communicate govt. programmes,
agricultural services, health care, family planning, Other welfare schemes.
Today, radio takes many forms, including wireless networks and mobile
communications of all types, as well as radio broadcasting. The era from the
late 1920s to the mid-1950s is commonly called radio's "Golden Age". Radio
was unique among methods of dramatic presentation in that it used only
sound. A radio communication system may send information only one way.
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For example, in broadcasting a single transmitter sends signals to many
receivers. Two stations may take turns sending and receiving, using a single
radio frequency; this is called "simplex" By using two radio frequencies, two
stations may continuously and concurrently send and receive signals - this is
called "duplex" operation./

P faera & Year ugar a1 v THiver M=nfiest Sua 21 39 faera & 9= & yarid
T S YU RITYF & = A YT fomam mar | IfEar awwor yomeht Isay gR1 w&a dedt 81
39 faerT & I &) wIia 31 & guiyur § gigefte g feefiar &1 wa fear srar @
oy e & 914 TP TEHT 9 SUgad Ri-Td SUSHRUT oI ciHier W ATSHIwI g @i+
YT yurelt & 7rHA § Reftar ) arsswiier wmfira gar 81 33t &1 v wu wd ara
HTeIY & &9 § IXPIRI STy, FY Aq13ii, WY @HTd, IRaR FraieH, o= searr
IS Bl SR 31 & e f5aT wirar 21 8T, AT F 3Me wu g, fod araRad Acas
79 PR & AaTsd TWYUT 9T ST TRIRr A &1 1920 F I/F A 1950 F IF B
A 9P & I DI (ST BT '"GI60 G Bl 9Tal 31 IS Aredta uegfaa) & adtel o
IFIST 4T RN SHH PHad taf ST TaHT fHar Srar g1 ST Iwivor yorelt Fadd T @RE 3
TSR U ol 81 3eevT & fe, 7R & te eigHier smw iRt & da dear g1
3l WM TS U (ST Mgfa T TN HIb Fbd Vel 9 YT HR 9Hhd 8; 39 "Ryraeqr
FgT oTaT 31 &t AW rgiral &1 W FRP, & WRE TR Abd Ul 9 U HR IPd &-
39 "SR ufara el ST gl

The communication systems involved in the radio equipments are:/i‘%‘*ff
SN H TS FTH0T gonfer’ 5

1. Transmitter and sender/ CIHIER d UN®H

2. Transmitter and receiver/ giTHIR g RftaR

3. Transmitter and loudspeaker/ ZiIHIER d AISWIH

4. Transmitter and microphone/ gii—lHﬂlce J AISH B

Correct Answer :-

« Transmitter and receiver/ ¢igHIex 9 R&TaR

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Faferfad e &1 wryde yee: 39@ AR 3 T sgfawadt uzei o w8t
fawey &1 799 B

A radio is first information and communication technology use in agricultural
development It was used as communication tool to spread the message of
development. A radio communication system sends signals by radio. The
radio equipment involved in the communication systems includes
transmitter and a receiver, each having an antenna and appropriate terminal
equipment such as a microphone at the transmitter and a loudspeaker at the
receiver in the case of a voice-communication system. Radio is being used
as a low cost medium to information about communicate govt. programmes,
agricultural services, health care, family planning, Other welfare schemes.
Today, radio takes many forms, including wireless networks and mobile
communications of all types, as well as radio broadcasting. The era from the
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late 1920s to the mid-1950s is commonly called radio's "Golden Age". Radio
was unique among methods of dramatic presentation in that it used only
sound. A radio communication system may send information only one way.
For example, in broadcasting a single transmitter sends signals to many
receivers. Two stations may take turns sending and receiving, using a single
radio frequency; this is called "simplex" By using two radio frequencies, two
stations may continuously and concurrently send and receive signals - this is
called "duplex" operation./

Py faera o ¥eat ugan GeAT vd v MR S 21 39 faera & < &) wrikd
P & YU RITYF & &9 § T fomar Tam | Isar gaiwor yomet &gy gR1 God derd! g1
39 o & I &1 wTia 1 & guiwur § giatftex g feeftar &1 wai fear smar @
T Ul e & 1Y TP AT T IuGad e SUHIT oI ¢iaH ey IR HISHIWIE 9 tafy
YT gurmelt & ArHa § Reftar ) arsswiier wnfira gar 81 3 &1 v w0 wd ara
AT & &9 § XPRI S, HY Aq13fl, WY @HTd, IRaR FaieH, 3= searor
o1 B TFSHRY 81 & e fear sirar 81 8w, 39 & 8Me wu €, e araraw Acad
g gt YR & Marse YT 9T ST THRT M &1 1920 F GG | 1950 & P B
AT dF & I DI (STl BT ' GI8 GI'" BT A1al 31 ST ATedta uwgfaal & adtdl o
SIST T i SN Haa @i~ &1 vaT far wrar 81 I$a Ty gt dad e avw 9
STFPR U Gdd! 81 3eTevl & foY, TR § ue gigHier sMe RftaRt & Toa demar gl
3 R TP Toha ISTY MRy T 701 HPb Hbd Nl  UId o Thd ¢; 39 "Rivgaiw
Fel oTdl g1 &t AW SrgfRra) &1 T FF, G R TR Hbd Ul I U HR TP &-
39 g U Hg1 SIdT 8l

It is low cost and effective medium to provide information about
government programmes, agricultural services, health care, family planning

and other welfare schemes:/ I GX®R! BIAHHAI, ?fﬁf, Tar3fi, WRA T@UTH, URaR
ST 9 31 TeaTur TISATS & TR | AR ¢ BT HH Td arar THTA 71 §:

1. Television/ CNICSE]

2. Tape recorder/ U Raptex
3. Radio/ f&al

4. Video player/ STl iR

Correct Answer :-

. Radio/m

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wryde yeo: 3u@ R fad T agfawadt uzei o W&t
fawey &1 799 B

A radio is first information and communication technology use in agricultural
development It was used as communication tool to spread the message of
development. A radio communication system sends signals by radio. The
radio equipment involved in the communication systems includes
transmitter and a receiver, each having an antenna and appropriate terminal
equipment such as a microphone at the transmitter and a loudspeaker at the
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receiver in the case of a voice-communication system. Radio is being used
as a low cost medium to information about communicate govt. programmes,
agricultural services, health care, family planning, Other welfare schemes.
Today, radio takes many forms, including wireless networks and mobile
communications of all types, as well as radio broadcasting. The era from the
late 1920s to the mid-1950s is commonly called radio's "Golden Age". Radio
was unique among methods of dramatic presentation in that it used only
sound. A radio communication system may send information only one way.
For example, in broadcasting a single transmitter sends signals to many
receivers. Two stations may take turns sending and receiving, using a single
radio frequency; this is called "simplex" By using two radio frequencies, two
stations may continuously and concurrently send and receive signals - this is
called "duplex" operation./

Py faera o ¥eat ugan GeAT vd v Wit S 21 39 faera & =< & warikd
P S WU RITYF & =0 § YT fomam mar | Ifsar gwwor yormedt Isa gR1 wda dedt g1
39 fAPTH & G &I JTid B & g § eiHiex g e &1 it fear wran g
oy A & 914 TP TEHT 9 Sugad RiFa SUSHRuT oI ciaHieR W AISHIwI 9 @iy
YT yurmet & 7rHa § Reftar w) arsswiier wnfira gt 81 33t &1 v vu wd ara
AT & 9§ RPN ST, HY Jaqreil, Wy @HTd, uRaR fFraeH, o= searr
I3t B APRI ¢ F e foram st 81 o1, ¥ & 3Me ¥ §, o array Aead
g 9t yPR & AiaTse YT gUT ST TR M §1 1920 & GG W 1950 & XS B
A qF & I B (ST BT "' ' BT oATaT 81 IS Area iy wgfaal & adial &
SIST AT RANfH 5T Had taf+ ST waT fpar Srar 81 ST Iivor yorredt Fad T @RE 3
WTFBRT Ut Tt 81 ISVl & fY, TRl § te eiaHier sMe ffiart & G&a d<ar g1
3! WM Uh THd (ST TGy o7 T Hb Tobd ol T YT B Thd 8 39 "R
Fe1 ITdT 31 &1 ISV IMGRIAT BT WG HXb, gl WA AR Hobd VS T YT Y Tbhd &-
39 g gREra $eT STar 3l

"Duplex" operation is done between the:/ "§wWaq" uikETed 3% 4 fpar &I &:
1. One radio frequencies and two stations;/ T (S S{IT{%HE?[@TJH

2. Two radio frequencies and two stations/ ARER Wﬁfa?ﬁw

3. Three radio frequencies and two stations/ @i &3l STGfd 9 & TIH

4. Four radio frequencies and two stations/ IR &t Hﬁﬁlaiﬁ“\%‘ﬂ:{

Correct Answer :-

. Two radio frequencies and two stations/ &l Y&l Sﬂ?{ﬁfa’?{@ﬂ:{

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wryde yee: Su@ HH fad T agfawadt uxei o &t
fawey &1 799 B

A radio is first information and communication technology use in agricultural
development It was used as communication tool to spread the message of
development. A radio communication system sends signals by radio. The
radio equipment involved in the communication systems includes
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transmitter and a receiver, each having an antenna and appropriate terminal
equipment such as a microphone at the transmitter and a loudspeaker at the
receiver in the case of a voice-communication system. Radio is being used
as a low cost medium to information about communicate govt. programmes,
agricultural services, health care, family planning, Other welfare schemes.
Today, radio takes many forms, including wireless networks and mobile
communications of all types, as well as radio broadcasting. The era from the
late 1920s to the mid-1950s is commonly called radio's "Golden Age". Radio
was unique among methods of dramatic presentation in that it used only
sound. A radio communication system may send information only one way.
For example, in broadcasting a single transmitter sends signals to many
receivers. Two stations may take turns sending and receiving, using a single
radio frequency; this is called "simplex" By using two radio frequencies, two
stations may continuously and concurrently send and receive signals - this is
called "duplex" operation./

Py faepra o ¥eat ugan GuAT vd v Wit S 21 39 faera & =< & warikd
FI S YU RITYF & =0 § YT fomam mar | IfEar gwiwor yormedt Isa gR1 wda dedt 81
39 faPTH & G &I TTRd 1 & G § eiHiex g e &1yt fear srar g
Ry A & 914 TP TEHT 9 Sugad <RiFa SUSHRUT oI cigHIer W AISHIwI 9 @iy
YT Jomrett & ArHd | iy W arssadfie: wmfira giar 81 ¥fsat &1 v o0 @ ara
AT & U T IXPRI SRIHH, HY Aa1sfl, WA T@HTd, IRar e , o= semr
I3 B AFPBRI ¢ F e fomam st 81 e, A & 3M ¥ g, o array Aead
g 9t yPR & AiaTse YT 9UT ST TERUT AT &1 1920 & GG | 1950 & P B
A qF & I I (ST BT "' ' BT o1l g1 I SAq Areaiy wgfaal & adiai &
SIST AT RANfH 5T Had taf+ ST waT fpar Srar 81 ST Iwivor yurrel Fad T @Re 3
WTHRT Ut Tt 81 SVl & fY, TRl § te eiaHier sMe ffiawi & G&a d<ar g1
3 WA TP Tohel I ST) ATGF BT UGN HIP Hbd Hel 9 UTed R 9hd 8; 34 "Rrruaaqn
FT oTdT 81 of IS rgfrat 1 W FRb, G RIM AR Jbd U T U R THhd 3-
39 "SR uEra el SrdT gl

"Golden Age" of Radio:/ If&dl &1 "G gI":

1. Late 1910s to the mid-1950s/1910 & &RTeb & 3id Y 1950 b GRIh &b HH db
2. Late 1920s to the mid-1950s /1920 & GRd & 3id ¥ 1950 & &RIb & A AD
3. Late 1930s to the mid-1950s/1930 & GRIP & 3id H 1950 & GRP & ALY dD

4. Late 1940s to the mid-1950s/1940 & CRH & 3id I 1950 P SH & HY db

Correct Answer :-

. Late 1920s to the mid-1950s /1920 & &R & 3id F 1950 b P b AL db

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa Tz &1 wFyde ygo 39@ 4 @4 T sgfawed u=-i & wdt
fawe &1 799 B

A radio is first information and communication technology use in agricultural
development It was used as communication tool to spread the message of


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

development. A radio communication system sends signals by radio. The
radio equipment involved in the communication systems includes
transmitter and a receiver, each having an antenna and appropriate terminal
equipment such as a microphone at the transmitter and a loudspeaker at the
receiver in the case of a voice-communication system. Radio is being used
as a low cost medium to information about communicate govt. programmes,
agricultural services, health care, family planning, Other welfare schemes.
Today, radio takes many forms, including wireless networks and mobile
communications of all types, as well as radio broadcasting. The era from the
late 1920s to the mid-1950s is commonly called radio's "Golden Age". Radio
was unique among methods of dramatic presentation in that it used only
sound. A radio communication system may send information only one way.
For example, in broadcasting a single transmitter sends signals to many
receivers. Two stations may take turns sending and receiving, using a single
radio frequency; this is called "simplex" By using two radio frequencies, two
stations may continuously and concurrently send and receive signals - this is
called "duplex" operation./

P fgera # gt ugar @ vd awvor enfiet Suai 81 39 fasra & 9= &t yarid
P F R RITYT & =9 H T forar ar | Isa guivor yomedt Ifsay grRT God Aerd! g1
39 fATH & G &1 TTd B4 & g § eiHiex g ey &1yt fear srar g
Ry v & 914 TP TEHT 9 Sugad <RiFa SUSRur oI cigHier W AISHIwI 9 @iy
YT Jomrelt & ArHd | iy W arssafie: wmfira giar 81 ¥fsat &1 v o0 @ ara
AT & U T IXPRI SRIHH, HIY Aa1sfl, WA T@UTd, uRar e , o= semr
o3 B TSR 81 & e fear sirar 81 8w, A & 8@ wu €, e ararRa Aead
7t PR & daTsa IRINUT TUT ST TR MR &1 1920 & IH A 1950 & IH &
A qF & I I (ST BT "' ' BT oATaT 81 ST Area iy wgfadl & adial &
SIST AT RANfH 5T Had taf ST waT fpar Srar g1 ST IHvor yorredt Fad T e 3
WTHRT Ul Tt 81 SVl & fY, TRl § te eiaHier sMe ffiaRl & G&a dear g1
3 WY TP Tohel ST ATF BT UGN $IP Hbd el 9 UTed B GPhd 8; 39 "Rrruaaqn
Pl oTdT 31t IS Srgfral &1 v FRP, & WA TR Hbd U 9 U HR TP &-
39 "SR uEra el SrdT g

The radio forms include:/?l'%ﬁmﬁw&m?:

1. Radio broadcasting/i'%?ff TIRUT

2. Wireless networks /dlqiaﬂ Scdd
3. Mobile communications /AETSd RN
4. All of the above/ Iujad Tt

Correct Answer :-

« All of the above/ Iujad Tt

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa Tz &1 wFyde gos 9@ - @4 T sgfawed u=-i & w&t
fawey &1 799 |
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Television (TV) is a telecommunication medium used for transmitting
moving images and sound. Television can transmit images that are
monochrome (black-and-white), in colour,or in three dimensions. The name
television can refer specifically to a television set, a television program, or
the medium of television transmission. Television is an iconic mass medium,
serving as entertainment ,advertising and news. Television became
commercially available in a crude experimental form in the late 1920s. After
World War II, an improved form was popularized in the United States and
Britain, and television set became common place in homes, businesses, and
institutions. During the 1950s, television became the primary medium for
public opinion. In the mid-1960s, colour broadcasting became popular in the
US and began in most other developed countries. The availability of storage
media such as VHS (1976), DVDs (1997), and high-definition Blu-ray Discs
(2006) enabled viewers to use the television set to watch recorded material
such as movies and broadcast material. Towards the end of the first decade
of the 2000s, the transition to digital television greatly increased its
popularity. Since 2010, with the arrival of smart television, Internet
television has seen the rise of television programming available via the
Internet through services such for example as Netflix and iPlayer./

SIS (TV) T qRYTR ATeaH § ot wahT Jaa axd Y 9 @i+ aufa o & fag fear
SITdT 81 deifaeT 08 a=diy YITiYd &= IPhdl @ Sl A (SP-Us-@rse), T, a1
Promamd gt 81 Shfaem (grex=i) A fadt eefifaw e, Tefifaw srdww ar Sefifasm
UHRUT AT & T o1 GepdT g1 oo U UG -39 A1ed g Sl #e, fagmu
I YHTIR] BT YARUT HIdT g | eitfae= arforfous =0 I urafire U 1920 & 2P & 3id A
qIivIfous U & Suasy gai| fgdta faxa g5 & a1e, iy a fads ¥ 391 dgar urey
A 811 &, 3R eifaw A< oY, aHTal g W JTHT 81 W 1950 & SRF &
SR, T ATdeif=ep g &1 YT HTEAH §1 TT1 1960 ¥ a=1P & e W 3ffyer o T
TR A0 8 7T 3R 3= faefiyd 3= & sHa YESMd 81 TS| VHS (1976), DVDs (1997) T
BTS-SIP =M =% f$5 (2006) 8 TR UTeaHl &) Iudsar A e=fe! &1 fivedl T yqRUr
It B Rprs Hed @A A W I91AT1 2000 P Ugd 321 P 3id A, feRrea ehifaw a5
AT Sedt TS 1 2010 W, WS AT, FEIC SIS DI B3 P T, TSI
ﬁmﬁwﬁgm%zﬁmﬁ%mmﬁﬁﬂﬁ@'ﬁ%,ﬁlﬂﬁmmetﬂix)a&wg‘lﬁw
(iPlayer) M &l

Television transmission can transmit images which followed the

;ofgbingtions are:/ Toilfae= YIRUT BHY dRd R &1 TURIT B HovdT @ Wil Frafefad &1
YUl &:

1. Monochrome (black-and-white)/ A IH (Ki5-US-BT0)
2. Dichromatic /Qﬁﬂ:{

3. Three dimensional/ Famart

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Iujad Tt
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8) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FafifEd e & aFyd® yeH: 39 4 33 T sgfawed! u=ai & 98t
fawey &1 999 B

Television (TV) is a telecommunication medium used for transmitting
moving images and sound. Television can transmit images that are
monochrome (black-and-white), in colour,or in three dimensions. The name
television can refer specifically to a television set, a television program, or
the medium of television transmission. Television is an iconic mass medium,
serving as entertainment ,advertising and news. Television became
commercially available in a crude experimental form in the late 1920s. After
World War II, an improved form was popularized in the United States and
Britain, and television set became common place in homes, businesses, and
institutions. During the 1950s, television became the primary medium for
public opinion. In the mid-1960s, colour broadcasting became popular in the
US and began in most other developed countries. The availability of storage
media such as VHS (1976), DVDs (1997), and high-definition Blu-ray Discs
(2006) enabled viewers to use the television set to watch recorded material
such as movies and broadcast material. Towards the end of the first decade
of the 2000s, the transition to digital television greatly increased its
popularity. Since 2010, with the arrival of smart television, Internet
television has seen the rise of television programming available via the
Internet through services such for example as Netflix and iPlayer./

SHTIT (TV) TF AR U1 8 FrasT v ga awdiy 9 @y Wit o= & fore foean
SITaT 81 eeitfaer O 9wy uarfyd - Hadn 8 o HiFPH (Se-Us-grge), i, a1
ramardt gt &1 Sfifae (qrexi) = fooedt Sdifae Se, Tdifae sriew ar ¢difaee
YR HTAH &) T &1 gepdT g1 Seltfas v Ui SH-39R A1ea @ sl #e, fagmu=
9 JHTARI BT YR HdT &1 TeifIer arfvifous =9 3 urafiie 9§ 1920 & <@ & 3id A
IS U A Iuasy gl fgdta faza g & a1, smifve g foea d g9 dgax urey
A g1 o, 3R Seifaw Ve oY, AaHTal g HRITH #§ JTHT 81 MW 1950 P 3P &
ERTH, Sfaw= TrdwfIe 3T T Yo7 A1eas a1 4T 1960 & /1P & ALy F v A @A
TR S gt T 3R o fasfya 3= o 39! Y[ 8md 81 TS| VHS (1976), DVDs (1997) @
TTS-SPTRH =% f&5P (2006) 9 RS ATHH] BT USRI A GRiP| Bl el 7 IR
It ) Npis B S@q H W I914T1 2000 P UgA 2P & 3fd A, f$forea ehifaw= &t
AT gedt 51 2010 F, WTE TATIT, SEI-E SATdol DI BT P AT, TAHIIT
mﬁﬁqﬁ%z@meﬁ%mmﬁmvﬁﬁ?% . o AefTaeRT (Netflix) T SMEWAR
(iPlayer) i gl

Television became commercially available in:/ coifawr arfoifsus = u 9 Suasy
BoT:

1. Late 1920s/1920 & &R & 3 H
2. Late 1930s/1930 & GRI% & 3id |
3. Late 1940s/1940 & GR& & 3fd H
4. Late 1950s/1950 & &R &b 3id T

Correct Answer :-

. Late 1920s/1920 & CTIH & 3id §
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9) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa Tz &1 wFyde ygo 9@ - @4 T sgfawed u=-l & w&t
fawey &1 79 B

Television (TV) is a telecommunication medium used for transmitting
moving images and sound. Television can transmit images that are
monochrome (black-and-white), in colour,or in three dimensions. The name
television can refer specifically to a television set, a television program, or
the medium of television transmission. Television is an iconic mass medium,
serving as entertainment ,advertising and news. Television became
commercially available in a crude experimental form in the late 1920s. After
World War 11, an improved form was popularized in the United States and
Britain, and television set became common place in homes, businesses, and
institutions. During the 1950s, television became the primary medium for
public opinion. In the mid-1960s, colour broadcasting became popular in the
US and began in most other developed countries. The availability of storage
media such as VHS (1976), DVDs (1997), and high-definition Blu-ray Discs
(2006) enabled viewers to use the television set to watch recorded material
such as movies and broadcast material. Towards the end of the first decade
of the 2000s, the transition to digital television greatly increased its
popularity. Since 2010, with the arrival of smart television, Internet
television has seen the rise of television programming available via the
Internet through services such for example as Netflix and iPlayer./

SHIT (TV) TP AR U1 @ Fra®T Wt a9a awd iy 9 @fy Wifta s & fore foean
SITaT 81 etfaeT 09 9w uarfyd = Hadn 8 St HiPH (sAe-Us-grge), T, a1
fremardt gt §1 TeRfae (grexf) A fpeft et de, efifawr srdww a1 TfifaeH
UHTRUT HISAH &) fouT S JpdT g1 Selifaw te URisg SH-TaR H1ead g St #=eer, fagmu=
T JHTIR] BT YR HIdT g | eitfae arforfus 0 | uraifiie U 9 1920 & =P & 3id A
oI U I Iuasy gl fgdta faza g & a1e, smifver g fada o su@r dgav urey
e g o, 3R Sefifaw= e w_Y, sqaural g | § HTHI 81 ¢ 1950 & SRP &
R, efifaerT Ardeifres 319 BT HBT HILHH S TATI 1960 F b S Heg § 3Af¥er & #iiF
TR A0 B 71T 3R 3= fasfiyd 3=1 & sH®! YESMd 81 M5 | VHS (1976), DVDs (1997) T
BTS-SfP =M =¥ 5 (2006) | TR ATeaHY & Iuetstrar A e=fe! &1 fvel g ygRr
It & i T @ H H&W I91aT1 2000 F Ugd 31 & 3id A, feRrea efifaw &t
Ao gedt M5 1 2010 W, TS AT, SEIE SAHAT DI BT P T, SIS
mwﬁiﬂﬁsﬁgzﬁmeﬁ%mmﬁmﬁq@g%,ﬁ-—lﬁﬁmmetﬂix)aaﬁﬁm
(iPlayer) I gl

Television became the primary medium for public opinion:/ ¢eiifawd frg ad &
ATAST -1 19 BT TG A1 §1:

1. 1930s/1930 & G
2. 1940s/ 1940 & G
3. 1950s/1950 & GRI&H
4. 1960s/1960 & GRIH

Correct Answer :-
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« 1950s/1950 & STIPH

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Faferfad e &1 wryde yee: 39@ AR fd T sgfawadt uzei o w8t
fapeu &1 g HI)

Television (TV) is a telecommunication medium used for transmitting
moving images and sound. Television can transmit images that are
monochrome (black-and-white), in colour,or in three dimensions. The name
television can refer specifically to a television set, a television program, or
the medium of television transmission. Television is an iconic mass medium,
serving as entertainment ,advertising and news. Television became
commercially available in a crude experimental form in the late 1920s. After
World War II, an improved form was popularized in the United States and
Britain, and television set became common place in homes, businesses, and
institutions. During the 1950s, television became the primary medium for
public opinion. In the mid-1960s, colour broadcasting became popular in the
US and began in most other developed countries. The availability of storage
media such as VHS (1976), DVDs (1997), and high-definition Blu-ray Discs
(2006) enabled viewers to use the television set to watch recorded material
such as movies and broadcast material. Towards the end of the first decade
of the 2000s, the transition to digital television greatly increased its
popularity. Since 2010, with the arrival of smart television, Internet
television has seen the rise of television programming available via the
Internet through services such for example as Netflix and iPlayer./

SIS (TV) T qRYTR ATeaH § ForaeT wahT Jaa axd Y 9 @i aufta o & fae fear
SITdT 81 deifaeT 08 a=diy wRITiYd &R IPhdl @ Sl Al (SP-UsS-@rse), I, a1
Promamd gt 81 Sfifaw (gRex=i) A fadt fifae e, Teiifaw srdww ar Sfifase
UHRUT ATSHH &) T 51 GehdT g1 Seltfas Ue URig SH-39R A1e8H ¢ Sl #e, fagmu
I YHTAR] DT YR BT g | Cotias arfoivis ¥4 & Urafire U 1920 & 3P & 3id A
iforfous = u A Iuersy gorm| fidia faza g & a1, smfver a fyeq ¥ su®1 dgar wrey
A g1 &, 3R eeifaw A< By, AHTal g WX JTHT 81 W 1950 & SRF &
SR, TelifasT Ardifoe I &1 g1 ATeaH 9 4TI 1960 & 16 & g H v & wiiF
THRYT A0 8 7T 3R 3= faefiyd 3= & sHa YESMd 81 TS| VHS (1976), DVDs (1997) T
BTS-SIP =M =% f$ (2006) S TR UTeaHl &) Iuesar A g=fe! &1 fvedl g yqRUr
It & Rprs Hed ST A W I91AT1 2000 P Ugd S & 3id A, FeRrea efifaw= a5
AT Sedt TS 1 2010 |, WS AT, FEIC AT DI BT P T, T
uﬁuﬁvﬁmﬁ;ﬁmﬁ%mmﬁw?ﬂ?ﬁiﬁrﬁﬁﬁm(Netﬂix)am‘a‘lﬁw
(iPlayer) I &1

Blu-ray Discs enabled viewers to use the television set to watch recorded
material in the year:/ S f&3® & xi® f5a af A Yeid @t 15 anrh du= & foe
ST BT WART A T

1. 2006
2. 2007
3. 2008
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4. 2009

Correct Answer :-

« 2006

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 39@ AR fd T sgfawadt uzei o w8t
fapeu &1 g HI)

Television (TV) is a telecommunication medium used for transmitting
moving images and sound. Television can transmit images that are
monochrome (black-and-white), in colour,or in three dimensions. The name
television can refer specifically to a television set, a television program, or
the medium of television transmission. Television is an iconic mass medium,
serving as entertainment ,advertising and news. Television became
commercially available in a crude experimental form in the late 1920s. After
World War II, an improved form was popularized in the United States and
Britain, and television set became common place in homes, businesses, and
institutions. During the 1950s, television became the primary medium for
public opinion. In the mid-1960s, colour broadcasting became popular in the
US and began in most other developed countries. The availability of storage
media such as VHS (1976), DVDs (1997), and high-definition Blu-ray Discs
(2006) enabled viewers to use the television set to watch recorded material
such as movies and broadcast material. Towards the end of the first decade
of the 2000s, the transition to digital television greatly increased its
popularity. Since 2010, with the arrival of smart television, Internet
television has seen the rise of television programming available via the
Internet through services such for example as Netflix and iPlayer./

SIS (TV) T qRuTR ATeaH g ot wahT waa axd iy 9 @i+ anfta o= & fag fear
SITdT 81 deifaeT 88 axdiy W_ITfYd &= IPhdl @ Sl Al (S P-Us-@rsc), T, a1
Promamd gt 81 Sifae (gRe=i) am fadt dfifaem e, Tdiifaw srfww ar Sefifase
UHIRUT AT B T ST GepdT g1 Seltfas Ueh URIg SH-I9R A1eH g Sl #e, fagma=
I YHTIR] DT YR BT g1 Seltiae arfoivie =0 I Urafiie U 1920 & 3P & 3id A
qrivoifous &9 & Suasy gai| fgdta faa g5 & a1, smfver a fads ¥ 39T dgar urey
S g o, 3R Sefifaw= A< R, sqaumal g ST § HTHI 81 M 1950 & SRP &
SRTH, TehifasT Ardsifoe I &1 ge1 ATeaH 9 T4T1 1960 & SR16 & g H sAfver & wiiF
TR A0 8 7T 3R 3= faefiyd 3= & sHa YESMa 81 TS| VHS (1976), DVDs (1997) T
BTE-SPTARM =% f&5P (2006) S/ WIS AT B Iua(ar A gxid! &I e 7 wRr
It B Ropie Hed @A A W I91AT1 2000 P Ugd b & 37d A, feRrea ehifaw= a5
A O Sedt TS 1 2010 |, WS SIS, FEIC AT DI BT P T, T
ﬁﬂfﬁiﬂﬁﬁﬁ;ﬁﬂﬁ%ﬂTmﬁwfi@Eﬁﬁﬁrﬁﬁﬁm(Netﬂix)a&nélﬁm
(iPlayer) IR R

Television is a/an:/ é?ﬂﬁ\‘rl?%t{ﬁi

1. Audio aid/ ¥d gl 3UdHRT]

2. Visual aid/ 0 glded JUDRUI
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3. Audio-visual aid/ 4T-eY Hgldh 3UHRT]

4. None of the above / SIRIgd & ¥ &3 gl

Correct Answer :-

o Audio-visual aid/ dT-<g gldh 3UDH T

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FafifEd e & aFyd® UeHs 39 4 33 T sgfawed! u=ai & 98t
fawea &1 a7 B

Television (TV) is a telecommunication medium used for transmitting
moving images and sound. Television can transmit images that are
monochrome (black-and-white), in colour,or in three dimensions. The name
television can refer specifically to a television set, a television program, or
the medium of television transmission. Television is an iconic mass medium,
serving as entertainment ,advertising and news. Television became
commercially available in a crude experimental form in the late 1920s. After
World War II, an improved form was popularized in the United States and
Britain, and television set became common place in homes, businesses, and
institutions. During the 1950s, television became the primary medium for
public opinion. In the mid-1960s, colour broadcasting became popular in the
US and began in most other developed countries. The availability of storage
media such as VHS (1976), DVDs (1997), and high-definition Blu-ray Discs
(2006) enabled viewers to use the television set to watch recorded material
such as movies and broadcast material. Towards the end of the first decade
of the 2000s, the transition to digital television greatly increased its
popularity. Since 2010, with the arrival of smart television, Internet
television has seen the rise of television programming available via the
Internet through services such for example as Netflix and iPlayer./

SHTIT (TV) TP AR U1 8 Fora®T v ga axd iy 9 @y Wnfta o= & fore foean
STdT 81 SEfaer T adiY UTiRa R Gddl ¢ ol A (So-Us-grge), I, a1
ramardt gt §1 Sffae (qrexi) = fooedt Tdifae e, Tdifae sriew ar ¢difaee
YR HTAH &) T &1 gepd g1 oo v Ui SH-39R A1ea @ sl #e, fagmu=
g JHTARI BT YR HdT &1 TeifIer arfivifous =9 3 uraifiie 9 F 1920 & <@ & 3id A
qIfvTI® ¥u I Iuasy gl fgdta faza g & a1, smifver g faea o su@r dgax urey
A g1 o, 3R Seifaw A< oY, AaHTal g G § JTHT 81 W] 1950 P 3P &
ERTH, Sfaw ardwfIe Ira T qeT Areaw a9 4T 1960 & /1% & Aeg § ifye A @A
mmﬁweﬁ?mﬁmﬂ%ﬁﬁwﬁwmﬁm{wm (1976),DVDs (1997) T
BTS-STPTIRM =% f&5P (2006) S RS ATHHT B USRI A GRiP! &I el 7 R
IR 3t fYpis v 3T # e I914T1 2000 & Ugd %16 & 3id H, fsforea efifae #t
AT gedt M5 1 2010 I, WTE TATITI, SEI-e SATdol DI JFIATT P AT, TAHAIT
ui‘;rrﬁﬂﬁﬁiﬁ;@msﬁa?mmﬁﬂqﬁq@?ﬁ%,ﬁﬁﬁmmetﬂix)a&m
(iPlayer) i gl

Netflix and iPlayer are examples of:/ ﬁmaani@wﬁm%mw%}
1. Radio programming/ Jf&at gRmfE
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2. Television programming VA ESRRC VIR
3. Internet programming/ S-ex-c URITTET

4. Broadcast programming/ JRUT TR

Correct Answer :-

. Television programming / Calfagi TR

Topic:- Grad_Child Care and Education

1) The reflex that helps in early social relationship is: /a8 fYocieq o URfY®
TS Hae & HGeR gidT &:

1. Rooting reerx/Fﬁ"Tﬁ'ﬂlﬁaﬂ

2. Palmar grasp reflex/qrR IRY Rocied
3. Tonic neck reflex/cifFd A R
4, Stepping reflex/T T Ruced

Correct Answer :-

« Palmar grasp reflex/dTH R IRY Roaiaq

2) Who are the most frequent physical abusers of children? /= & Ga 3fY®
RS Iaftss FIH Ha1 82

1. Babysitters/ 3Tl
2. Non-parental relatives/TR-3fHHTIH T GRS
3. Parents/dTal-fUar

4. Teachers/R1&i®

Correct Answer :-
o Pa rents/m?ﬂ-ﬁ?ﬂ

3) ICDS programme gives supplementary nutrition and immunization for the
age group under:/3MEAIITH HrIHH Ja1 fFafea smg-ait & a= & e 3MeR iR
SHRATSOIRM YeTd Hdl 8

1. Birth to 3 years/G?R-:T 3 91d
2. Birth to 6 years/S¥ ¥ 6 9@

3. 2-4 years/2-4 9Id
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4. 3-4 years/3-4 9Id

Correct Answer :-

« Birth to 6 years/S/ ¥ 6 ITd

4) Foetus gets it's nourishment from:/ﬂﬂ-fﬁlﬂ'wﬁlw%:
1. Amniotic sac/mqﬁ?ﬂ@r

2. Placenta/ 3R ¥

3. Umbilical cord/TH 3] 4

4. Sucking/¥ g ¥

Correct Answer :-

. Placenta/&rCRT‘@f

5) It occurs prior to the development of speech or language: /Sd! T HTST &

1. Post-lingual deafness/U8-HTuTs SfeRaT
2. Pre-lingual deafness/‘:lﬁ-ﬂ-rrﬁlﬁm
3. Mild deaf/HeH SR

4. Profound deaf/7i*R afeRar

Correct Answer :-

« Pre-lingual deafness/Jd-HTHTS SfERdT

6) The tendency of children to attribute life to inanimate objects is known

as: / Foroffa Hefl 7} weita & =0 d 2w P a1 B gy PeaT &
1. Dynamism/@'r's’:rr&lﬁﬂ

2. Animism/ TR

3. Maxism,/Bfaafirerd

4. Humanism/@ﬂﬁ—\ﬂﬂ

Correct Answer :-

« Animism/TAfEeH

7) The home based programme is to: /W 3meTid HrdeH 8:
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1. Support the parents in the role of the care givers and home makers/<@HTd aTarsii
3R g AT BT YHST T HI1-fUdr Ht ggrad

2. Support the environment/TaiaR0l &1 JETIdT
3. Support the teachers/RIe®! &1 TgrIdm

4. Support the public/ @I &1 TETIdT

Correct Answer :-

« Support the parents in the role of the care givers and home makers/¢@HTe Tararafi
3R T8 Taras Pt YAt & ATdr-fdr & germar

8) A classroom which provides education for exceptional children is called

as? / 98 el wigl faderor a= &Y e & St ? 98 Feardt 32
1. Self-contained class/deh B g g

2. Resource room/RA =0

3. Special room/TTd ¥H

4. Regular classroom/geR FIREH

Correct Answer :-

. Resource room/RERi ¥F

9) By the end of the first year, most infants:/Ugd 9T & 3d dF, Wﬁf&{[:
1. Double their birth weight/ 30" SSId ao & g1 81 old & |

2. Triple their birth weight/mmaﬂq@ﬁﬂ:ﬁfﬁﬂﬁ%l

3. Have gained about 10 pounds/TRTH 10 UI3S a5 Jfg R dd & |

4. None of these/STH I BIs a!

Correct Answer :-
« Triple their birth weight/30= SIS aoi § foi[ 81 o & |
10) Home based learning is:/ WWWW%:

1. To strengthen the parents sense of authority and self-esteem/ AT 7 PR H1a
3R ST BT TR HIAT

2. To strengthen parents dependence/ nmﬁmﬁﬁrmhmwm

3. To reach only the child/ %dd S T Uga

4. To reach only the public/ dad Al do Ugd
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Correct Answer :-

« To strengthen the parents sense of authority and self-esteem/ ATAI-TUdT # HUFR UG
3R AT B TG DAl

11) Apgar scale is used to evaluate the growth of a:/VUR I d HT SUAHT
frrafafaa 9 gfs & geaiea & e fopar srar @

1. School going child/¥%d SH dTd S
2. Preschool child/SR&el s

3. 1-2 year old child/1-2 @ & g

4. New born/ddsird

Correct Answer :-

« New born/ddvld

12) Excessive pressure in the eye ball is:/eﬁﬂmw Wmﬁm %:
1. Glaucoma/ @ |1

2. Refraction/RSpaRM

3. Myopia/ﬂl’iﬂﬁm

4. Cataracts/rﬁﬁﬂﬁ?{

Correct Answer :-

« Glaucoma/™q® M1

13) When an individual with multiple cognitive disabilities has extraordinary
proficiency in one isolated skill, this is known as?/ufeeud srfifea siermare ara

wfed o1 foet e g7 & fawaron garmT g1t 5, 9 a1 Hgardl o?
1. Rain-man syndrome/i‘ﬁ?ﬁi@ﬂ

2. Asperger abiIity/QW‘fT &HdT

3. Intellectual isolation/SfSe® PREERY
4. Savant syndrome/3dTdd RigH

Correct Answer :-

. Savant syndrome/dTdd RigH
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Gestures are used as a substitution for speech during:/ﬁ'ﬂma?a?'ﬁ'cﬁﬁas
faweu & =u o r9-UTa &1 ST fopar ST 8:

1. Early childhood period/<[®3{Tdl §<0- BT 3{afd
2. Toddler period/dTau @t 3y
3. Late childhood period/9<dc §<0- &1 3fafd

4. Preschool years/WRadll 91l

Correct Answer :-

« Toddler period/STdau+ &t 3fafd

15) Which out of the following is a preferred mode of transmissions of HIV
infection from mother to child? /378 A 9 UTaT ¥ = § HIV JHAYT & TG
BT I T WY 82

1. During pregnancy through placenta/ﬂlﬁGW%aW QRT g7 AT & SR
2. During delivery through mixing of blood/¥¥Id & SR 3ad Y0 & JIRY

3. Through breast milk during Iactation/W%ﬁTﬂW@U%ﬁﬁq

4. All of the above/3HURIa TH

Correct Answer :-

« All of the above/SWRIad g+t

16) Which of the following is a painful uneasiness of mind, concerning

impending or anticipated ill./ fFg & & fFa® HRU AfRTws # gavrge gidl 8 ud 399
THT T 3rAfera SrawyaT 3t gyfa et 82

1. Anxiety/ far
2. Depression/ 3{ddlq
3. Disinterest/ J&RI-dI

4. Unhappiness/ Udddl

Correct Answer :-

« Anxiety/ fidr

17) The virus that causes acquired immune deficiency syndrome (AIDS)

paras%itizes:/wméswsr%ﬁﬁﬁmﬁ RisiH (AIDS) Iaua Fe= arar faury] ford weftfaa
DT &:

1. B cells/ B BIRHTY
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2. Cytoxic cells/ ATgeIaI® BB
3. Helper T cells/ 8¢R T HIR®Y
4. The membranes of lymph nodes/mmaﬁ%@ﬁ

Correct Answer :-

« Helper T cells/ 8RR T HIRBTY

18) Which board has replaced the child protection committees?/fFd e A
&=t a1 JRem Fftrfoay &1 wir= forar 82

1. Local safeguarding child’s Boards/@&d JwIaT A3egy dle
2. Children’s services authorities/dTd Jal UMYHR
3. Children’s trusts/ftiegyd g

4, Child safeguarding committees/dIgcS YHIST B

Correct Answer :-

« Local safeguarding child’s Boards/FﬁW@WTl%’TW@é

19) A stirred up state of the organism accompanied by certain physiological
changes in the body and an impulse to act may be defined as

development./uToft @} Te faenfia srawit forred I1y $© IIfv® ufvad= ok &t amaw
M g @ faora & wu # frefia far o godar 2

1. Motor/ﬁﬁ’cf?
2. Social/ImHTNIR

3. Emotional/HTdATH®

4. Intellectual/m

Correct Answer :-

« Emotional/HTdATHD

20) Motor development depends on:/Hicx fasra frafafad w fifk #xar @:
1. Muscular maturation/U=ia aRgehdr

2. Ossification of bones/B%TﬁW SHRYHT

3. Good diet intake/ 33T HIGH 3dUgul

4. Good opportunities providedUeH T T SgaR I 3TAR

Correct Answer :-
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e Muscular maturation/ﬁ?ﬂﬁqﬁqu

21) The aim of the Children’s Aid society is: /9T TgMAdl WIHTgd! BT I 8:
1. Human rights/ﬂﬂﬁ'@ﬂ?

2. Protection of children/dTd gr&T

3. Protection of women/Hfga JR&T

4, Protection of women and children/ H%FITQ'&WQT&H

Correct Answer :-
« Protection of children/dTcl &l

22) Educational consideration for the mildly retarded children emphasizes

on:/ THOH &R W qHfed Il & forg Rerfore famro frmfafea «w 9 3ar :
1. Social skills/ATHING HIR

2. Self-help skills/¥ad TETIAT HIA

3. Readiness skiIIs/ERCRFiTEﬁTﬂ?T

4. Play skills/Qd SRS

Correct Answer :-

. Self-help skills/%ad TgRIdT HIA

23) One of the following is the objectives of home based Iearning:/ﬁ'ﬂﬁl’ﬁq’aﬁ
A TP W Snuriva fRueror &1 3539 3:

1. Increasing parents’ knowledge of their roles as teachers of their own children/ 3=

st & R1ere & =9 F Arar-foar st Yfier & R § 79 3G
2. Developing knowledge to community/ﬂ'ﬂa‘lﬂaiﬂﬁﬁm
3. Developing knowledge to youth/ﬂm&ﬁagﬁﬁﬁﬁw

4. Helping public to create awareness/@l @I SIFR& T [dHT H Hag

Correct Answer :-

« Increasing parents’ knowledge of their roles as teachers of their own children/3fq=

i & g/ & €9 H ATal-Ual & YHeT & SR J 949 gfa

24) The headquarter of Kasturba gram Gandhi National Memorial Trust is in:/

FERARMH T AT AR o &1 BITed Hal ¢
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1. Kolkata/®IaeTdl
2. Bihar/fSgR
3. Andhra Pradesh/3fi¢ e

4. Madhya Pradesh/ded e

Correct Answer :-

« Madhya Pradesh/A¢ UG

25) Which is a form of exaggerated behaviour?/ 3ifaiford agR &1 AU A A A1
TP U §?

1. Rivalry/ ufdgfgdr
2. Punishment/ 9l
3. Negativism/ S RIHD Al

4. Aggression/ 3{ThTHo I

Correct Answer :-

« Negativism/ TRRIHD T

26) Which one of the following is a cause of deformity in crippled child?/

fFrafafEa & @ @9 a1 3riv 71 9 fapfa &1 te R e?
1. Nerves, bones or muscles/?rﬁﬁ, E@Wﬂmﬁﬁﬁ

2. Bones onIy/W%@

3. Muscles only/&dd AU

4. Bones, muscles or joints/€§°r, rr'mﬁﬁﬁm\‘:ﬁ—s:

Correct Answer :-

. Bones, muscles or joints/gg!, ARTURN A1 A

27) In which one of the following settings, the children learn creative skills:/

379 A fog AT A g2 TaATes S dEd 8
1. School centers/l@'_c'r%
2. Creative centers/JATHD Hg

3. Home based centers/™W} YT g
4. Coaching centers/®I<iT Hex
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Correct Answer :-

« Home based centers/YX &HHTF{H%

28) Wheel chairs, ramps and special equipment are required for: /fafafad &
fore &te R, v 3k fafiy Suw=on #t smazgwar il 3:

1. Disabled/ 31&/H aafad

2. Physically handicapped/IRIR® &4 ¥ famai
3. Special chiIdren/ﬁﬁWﬁ

4. Exceptional children/fdaemr s

Correct Answer :-

« Physically handicapped/IRIR® U ¥ f[admaiT

29) The objectives of Bureau of child welfare and research is:/ 9Td $edT10 Ud

MY IR F I 3¢

1. To investigate problems of children on scientific lines/ g &) gHASH IR e
e

2. To provide supplementary nutrition for women/ H%Wﬁ%ﬁm% 3HBRR

3. Extension of relief to orphans/ wﬁ%%mlsa CARTGESIEY
4, To provide medical facilities for women/ ni%w&hﬁﬁwzxgﬁwmm

Correct Answer :-

. To investigate problems of children on scientific lines/ S &) AW TR A7MMH
SFHYT

30) Betty's ability to breathe, swallows, and suck before she can hold a cup
describes:/®U UHs A Ugd 331 F TiY a1, AT 3R TWUM #31 $1 e e
W?ﬂ%:

1. The general to specific principle/wﬁmﬁl@?{

2. The cephalocaudal principle/mﬁ?sﬁﬁ

3. The proximodistal principle/ﬂﬁqw\ll'ﬂ@ﬁ@iﬂ

4. The patterning of behaviour principle/@ﬂ%’ﬁﬁl&’rﬂﬁﬁﬂm

Correct Answer :-

« The proximodistal principle/SHd gRIIHTE Rigid
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31) The pent up emotions of a preschool child are released through the

following: /WR@elt a= @1 yraATe Fafafea & wifve gaa gidl &
1. Hammering on the peg board/U7 1S W UER
2. Reading/UeHTl

3. Drawing/SIgT
4. Talking with other children/3/ = S o 1Y dTadtd

Correct Answer :-

« Hammering on the peg board/U7 1S TR UER

32) Toddlerhood has which of the following characteristics:/ W(ﬁm
#1370 @ T fagivar e @:

1. Unsteady beginning walking movements/STHNTd U da- &1 ST
2. Drastic physical changes/did IRIR® daad

3. Significantly changed social relationships/WW@f gl gl qrHTo® ey
4. All the above/3IwRidd Fi

Correct Answer :-

« Unsteady beginning walking movements/STHd §1;ftlcﬁ ﬁQIEG{IH

33) In autistic spectrum disorder when as individual exhibits immediate
imitation of words or sounds they have just heard, this is known as:/

Jifefes WaeH fEarsy # wa aafaa srft-3reft YA gU ) a1 afs #) TopTar Apa BT &,
1 gg HEardl 6:

1. Echoastic disorder/3@IRed fSaTex

2. EchoIaIia/'s{Hﬂa%ﬂT

3. Phonological inhibition/qﬁ:ﬁﬂmsﬂ%ﬁm
4. Grapheme dysfunction/JThIH [&TharH

Correct Answer :-

« Echolalia/SaTaferr

34) Home based programme may be: /W SMeTid STrdehH g IPhdl &
1. More effective child Iearning/G{f% THTdt a1 fReqor
2. Readily accepted by the illiterates/FReRT GRT daRaT ¥ Wie™d
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3. Environmental oriented,/uafarur Sfgd
4. Readily accepted by parents/HTdl-fdl gRT darar ¥ Wiert

Correct Answer :-

. Readily accepted by parents/HTdl-fadr gRT darar ¥ Wierd

35) Infancy, toddlerhood, and adolescence are periods of rapid growth in
height and weight. Which of the following lists the periods from fastest to

least fast? /%4, STAUF qUT frRIRTaRAT ARRE Ha1g 3R a9 A af gficx & srawar
Bt 1 379 | B I AW A e S srafia &1 e uegd $edar 82

1. Infancy, toddlerhood, adolescence/ﬁm, qTefy-, BRI
2. Adolescence, toddlerhood, infancy/ﬁo‘&ﬂﬂﬁ?ﬂ, Ty, BRI
3. Infancy, adolescence, toddlerhood/ﬁ?ﬂa, ERUREES] ACINEE!

4. Toddlerhood, infancy, adolescence/dIcU-, 51'5213, fraRER

Correct Answer :-

« Infancy, adolescence, toddlerhood/ﬁ‘«’l’q’, [P IRTaR , Ay

36) Jean Piaget's sensorimotor period is so named because:/ SiF fRle &

TSR (@) srafy &1 gg T sHfe st 8 -

1. Infants are sensitive to the language spoken to them by caregivers/ ﬁlﬂlw YT &
Ufc WAl 1A € St 9 S{UT AICH-UTa B dTell &1 Sidd gd &

2. Infants gather information through their senses and through motor movements/lﬁl%l

3Tt Efet ofR Hiex (R U=l fafafemt & ST gamT tes #d §

3. Infants respond to stimuli through language and motor activity/BéIqq %uﬁfifrsy—rrm
3R Hiex Tfafafy & SRY 3rfepan o=d &

4. None of these/ sﬂﬁ@fﬁg:@

Correct Answer :-

« Infants gather information through their senses and through motor movements/lﬁl%l

3Tt Efet ofR Hier (R U=l fafafert & SIRT ga-1 tes -d §

37) Which one of the following is the type of orthopedically handicapped?/
Frafafea o 9 19 sfdfifse u @ fawaimar o1 e ToR 82

1. Poliomelitis/qiferarAes ey

2. Hypernasality/gT3uR~aferct
3. Omissions/ 3{HRH
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4. Distortions/IEEVQiH

Correct Answer :-

« Poliomelitis/Tiferaraarsfey

38) The process of zygote getting attached to the uterine wall is called: /gHS

& THTIE B FaR A oA FI UfhaT Heard! a:
1. Embryo formation/yor fAafor

2. Implantation/3@ieTH

3. Fertilization/ﬁﬁ?ﬂ

4. Zygote formation/m-fﬁ'ﬂfUT

Correct Answer :-

« Implantation/S@icTH

39) John can sit up and control his arms before he walks. This process refers
to the:/IeH I Ugd W 96 AHdT 8 3R SU-T Y13 W f~=i=vr #= Far 31 a8 ufhan
FHeard 8

1. Musculature developmental principle/wmw
2. Cephalocaudal principle/ﬁlﬁﬁ*ﬁﬂﬁ@ﬂﬁ@'ﬁ

3. Proximodistal principle/mmﬁ!@'ﬁ

4. Growth principle/ﬁ@@ﬁl@'ﬂ

Correct Answer :-

. Cephalocaudal principle/RithaioTsd Rigid

40) Which period involves a dramatic increase in body size and completion of

physical structures of a baby?/f%3 sraftr #f ] & IRR o1 PR 3R TP IRN®
T § ATy g gl 82

1. Period of ovum/3iEIY] &1 3y
2. Period of embryo/YUl &1 3{afd
3. Period of zygote/TﬁlTrrEﬁT 3afy
4. Period of foetus/T Pt 3afy

Correct Answer :-

« Period of foetus/TY @t 3afy
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41) Which type of trainer helps to develop low cost play equipment for

parents? / 59 SR & UfRnere ATII-FIdT B HH a1 ard Wd IUBT fawfid #33 |
Heg PId 2?

1. School teacher/IGalt Rigid

2. Home visitor/eRe] 3idd

3. Demonstrator/%ﬂw

4. Teacher educator/caR Tgdhex

Correct Answer :-

« School teacher/%ml fRigrd

42) Which out of the following are the high risk subjects for acquiring HIV
infection?/ 379 ¥ fHTUP HIV THHU & U H 3 FT I SFEH gidT 82

1. Professional workers/ﬂ'@ﬂ? HHT

2. Drug addicts/=Ril gard Ya- &= ard
3. Persons getting repeated blood transfusions/SR-8R J&d 3T H Tl A fad

4. All of the above/‘m“tl'ﬁﬁﬁ g

Correct Answer :-

« All of the above/G?CI'ﬁTﬂ g

43) The period of embryo lasts from:/ ?{Wﬁmm@?ﬂ%
1. 2-8 weeks/2-8 didle

2. 2-14 weeks/2-14 Idlg

3. 2-20 weeks/2-20 ¥ile

4, 2-24 weeks/2-24 qWdlg

Correct Answer :-

« 2-8 weeks/2-8 JUdle

44) Maximizing the movement of students with disabilities into normal
educational setting is referred to as:/ ATHT Q&P TawyT & WS r&rHdr arat
BEl DY Tfafaf & Sfeda &A1 Pedrdl e:

1. Early intervention/3RfY® gay
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2. Remedial teaching/ﬁ'd'l'% fRrefor
3. Least restrictive environment/<gAdH UldeyTdd TRAR
4. Integrated instruction/U@®Idd el

Correct Answer :-

« Integrated instruction/@% BEX

45) The use of small muscles such as those involved in moving one's fingers

is referred to as:/3Jelt & HOTaH & WA DI AIAURMAY & UGN B BT ST 8:
1. Gross motor activity/Jg Alex fafafd

2. Fine motor activity/WTs- Aex Tfafafe

3. Locomotors movement/@rdHIcy T

4. Eye-hand coordination/ﬁﬂ-%ﬁw

Correct Answer :-

« Fine motor activity/%T3 AreX Tfafafy
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